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g th v g
9t General Science
= Full book solved MCQ u%pakcity.orggn :
: Objective Type =
= L Encircle the Correct Option. _ Uf@ S d Nzern ]l S
_E_ 1) Which scientist is said to be the founder of chemistry? - {_[:*U.g(&g (E‘-{Hi UIF u:’/(l __E
g a) Bu Ali Sina  b* ub ¢ (a | b) Zikria Al Razi ¢) Ibn Rushd ~ 5 (c | «d)Jaber bin Hayyan g
g 2) Disease caused by bacteria. A - Se by | e, E/”"-é (2 g
g 1 f(()@ \\} > : b e /(b E
= a) Small pox J/ L Je(a | b)Polio rJ..gf (b | c)Measles A~ “3” (¢ | #d) Typhoid Zet(d =
= 3) In which city was Muhammad bin Zakaria Al-Razi born? R MQg\O L wia S S LG ok £ Q3 =
g a) Tehran Uz (a | ¥b)Ray < (b /ﬁ& - Jizzl- (¢ | d) Alkhawarzm (),;l; 1 (d E
g 4) The drinks which can be used in more quality in fre@eﬁlpare Y = b s Je s S Jflfb R :.,g,}" L (a E
— :
= a) water dL (a | b)juice /\g\ Mi (b | #¢)sugarcane UL (¢ | d)milk 239 (d =
§ N E
g 5) Bronchitis and emphysema 1s caug\(gy/ P JU%’.WE d:f' L Uﬂbﬁ; s s (5 g
§ a) Gold v (a lﬁ&ﬁﬁ‘n alcohol ¢) From spicy food + d) From smoking E
: e G f G e LWLl (c e F 3k (d =
§ 6) Which disease affects the human nervous system? C e by J ruy u‘j K oLl e Sk J/ (6 §
: 2)Smallpox 'y Uk (a | b) Measles s~ (b | ¢) Flow #(c | v¥d Polio 9 (d =
g 7 ...... Was a famous mathematician. W ol (faL 5 W (7 E
§ v a) Al baruni (}M." i(a | b) Newton J v (b | c)Dr. Ashfaq Ahmed d) Robert 2, (d g
210631 21 (e
g 8) The body of a young man consist of about ... liter of water. - cﬁ-l‘:‘ys J-‘"y /£ dk /b.j ________ L:‘/‘?J' () gd;’" B2, ng (8 E
g a) 40 liters }J a) 40 | b) 20 liters /"-;‘ b)20 | #c) 35 liters };’ ¢) 35 | d)25 liters /"-.:’ d) 25 E
§ 9) The process by which plants produce glucose is called. - Z.Uv:’/ =1 byl N i ,1{ <y e U Jf L (9 E
g v a) Photosynthesis ‘ b) Respiration B /;.’ij (b [ ¢) Oxidation gﬁ'fgf T (c | d) Metabolism (ﬂ Jtx (d E
§ ﬁ‘r‘/ 49 (a g
g 10) The anitbiotic cephalosporin was discovered in : __u/f J » _,,__}3!:} s Eume v (.'3 u( J.ft ‘3," (10 E
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a) 1848 a) 1848 | «b) 1948 b) 1948 | ¢) 1928 c) 1928 | d) 1998 d) 1998
11) Diamonds and stones obtained from. ¢ é /53 1l & (11
v 2) Jim Stone  (J# (f (a | b) Mika 20 (b | c) Chromite < s/ (c | d) Silver /‘J" (d

12) How many people in the world lack access to safe drinking water?

_4;-_(5/¢,dgqu£%d;LTfJg:(12

a) Three quarters JLE?}Z, uf (a | b) One third Jl.f/“ u{l (b | «#¢)Half uﬂ’ s (¢ | d) One fourth fLa?:; ,Q (d
13) How many sources of fats are there? Y (":l;} ZL L/(Jib (ULLe) uj'-:, (13
a) One ugl (a | #b) Two 53 (b | ¢) Three uf (¢ | d)Four e (d
14) There are types of biochemical reactions. <L rL:"l J;LLGJ Jgd%ﬂg (14
va)?2 a)2 | b)3 b)3 | )4 )4 | ds d)5
15) How many elements does the human body consist of? ¢ dﬂ_l‘?ﬁ‘ sz Z ‘_/j;f*J:'l Z(; &Ul (15
va)3 a)3 | b)4 b)4 | ¢)5 c)5 | d)6 d)6

16) Thyroid glands grow in size.

_wigngiuifVizg/?’l;Jlﬁ(lé

a) Due to calcium

deficiency

e 28§ G

b) Due to iron deficiency

e 8¢S U b

c¢) Due to fluoride )

- O\
deficiency P\ ))

P\ = )
= J&;Q\J \C{ j X1 (¢
AN\_A—

« d) Due to iodine

deficiency

e a8 ST

AN \v

17) What is the chemical that is present in cigarette smoke and fnm%@\jt@ddictive?

2N\
/(/.2 < ; /
{\\f’ﬁ\ ~/ t:dﬁu JJ' s %t‘ﬁu:d:’p’ L%%ﬁ%(ﬁf‘{u{v!(l7
PN —

s (D > . . L
a) Tar A (a | «b) Nicotine xf 5 ¢) Carbon monoxide d) Nitrogen dioxide
A~ NS AT I K (e AT Q15 s AL (d
A
- W ] P
18) There are a number of major t;;pg?@\/ﬁp lution - ) 4 J(le S d/d/u’l (18
{iaEii -
a) 4 D4 | 55 b)5 | ¢)6 )6 | «d)3 d) 3
19) transmit biological information. - Z./Jg:' = o Jgp (19
a) Nucleus ﬁg v (a | b) Chromosomes /"rr‘:/’/ (b | «¢c) Genes e (¢ | d) Gametes JZ(T

20) Amino acids are building blocks.

S U (20

a) Of carbohydrates

L J‘ixjjl,)fjg(a

Lu‘?(b

b) Of fats

v ¢) Of proteins L ﬁ}é (¢

d) Of vitamins L s (d

21) The disease that causes dehydration in the body.

_,{;.Lz:/lﬁufd/&guf()'ﬁdﬁgwel

a) Typhoid 67t (a

«b) Cholera /6 (b

c¢) Diftheria

ijfa’(c

d) Polio r.J.{ (d

22) What is the density of ice at 0 C?

_%Sﬁu;/&’;ujd/d,c,(:COQZ

) 0.918 g/cm3
a) 0.918 g/cm3

vb)0.999 g / cm?
b)0.999 g / cm’

¢)0.891 g / cm®
c)0.891 g [ em?

d) l.Og/Cm3
d)l.()g/cm3

23) The ratio of carbon dioxide in the air.

- — K.@'m (jlj 8 1 (23

a) 407% 42 2) 40

v'b) 0.4% 42 b)0.4

c) 0.04%

42 ¢)0.04

d) 0.004%

42 d) 0.004

Please visit for more data at: www.pakcity.org

Ty



U';/J.fj(d

33) Bacteria invade the throat and nasal passages and cause inflammation.
_uj"au-)/(bg:gj}rﬂlUJL/KK,{:U}}?,JJJMﬁkﬁ%(fﬂ
L~ 5 (e

/6 (d

J}j (a

a) Tetanus b) Typhoid #6%t (b | #c) Diptheria d) Cholera

34) The branch of science that deals with the chemical factors of living things.
_aﬂ-:.—;.d'lf&fg{ium,clg&]’/u)*élfﬁd/uflf(_%

vc) Biochemistry

S A4 A e

d) Physical chemistry

A TIC

- GE:.. L.52§£Ir|| ‘,/L;L;“J' t.:-fl:jﬁi" (::3 5
d) Abu Ali Sina b+ d‘ 4 (d

b) In Organic Chemistry
S A5 BT (b

a) Organic Chemistry
S5 BT (a

35) "Kitab al-Manazir" is written by.

«¢c) Ibn Al-Hashem

(iﬁ)!wil(c

a) Al baruni

&5/;-"1 (a

b) Jaber bin Hayyan

P kb (b
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§ 24) The chemical that is present in cigarette smoke and makes you addictive to cigarettes. g
g P AL K..i.f,/f“ VIPEEY ¢ U uf;‘”; L &.;,)C’ 2 ﬁa} (24 E
§ a) Tar Jt(a | #b)Nicotine J:"/ (b | ¢) Carbon monoxide d) Nitrogen dioxide E
§ ST s (e AT 8 P F(d =
g 25) Gland which is about the size of a pea. & bw Az il AU i:_f(zs E
g a) Thyroid Gland +b) Pituitory djﬁf‘ (b | ¢) Gonds JA J (¢ | d) Adrenal J= A (d E
= G o0 36 ( =
§ 26) Which disease is caused by DNA mutation? s 3},3 T e J‘; d/é_.l 18 Sk 54 (26 E
g a) Hemophilia L& +7(a | B)TB 3 (b | ¢) Typhoid 67t (¢ | ##d) Cancer /:.J/ (d E
= 27)Mental illness is. e GkdLQr S
§ « a) Neurosis J'/ s,¢ (a | b) Tuberculosis J) < (b | ¢) Diptheria L /fJ 5(c | d)Cholera J€'(d E
g 28) Organic compounds are an essential ingredient of. _ ‘:.__t*ﬁ w7681 "-"E"//' S.VL (28 E
§ a) Oxygen f"ﬁ (a | #b) Carbon ¢ (b | ¢)Nitrogen s fjt (¢ | d) Hydrogen 247 (d g
§ 29) Emphysema is disease of. () ,\\] e S d/ujts: &fl (2 §
E N . : g
= v a) Lungs . %55"{ (a | b) Heart ICHED. Skm Q O\ A (¢ | d)Brain Els (d =
L —
= 30) The cause of malaria in humans. By JE/«L U ol (30 =
= + a) Matter influenza b) Culux uj Z G%}; Dengue mosquito d) Bacteria L /,,,G (d =
EE ) o ffj;:E\Q} G b EE
= . l (> 7 i =
= /:b!.: sl (a /{%\&/ /OCJ(C E
= ~ S * =
= 31) Which vitamin deficiency reduces the /\ ofblood to clot? - - Qb # (»:,fl,w Jc‘i Us U5 &40 e U/Jc/lfﬁ uf(31 =
= [2a wA B&TB b)B | )E OE | vdK Ok | :
§ 32) An important invention oftMem age. - <l (’5! d/m 440 (32 g
§ a) mobile J .+ (a | b) Internet = 71 (b | #c)Computer /J’);:,.{ (¢ | d) Agricultural machine E
E

Please visit for more data at: www.pakcity.org



Oth General Science Full book solved MCQs

WwWw.pakcity.org

S T T T T T T T
g 36) The temperature of the mesosphere 1s - Uyt 7 20 K fd.f/ s (36
% a) - 60 C -a) 60C | b)-80C -b) 80C | #¥#c)-100C -¢) 100C | d)-10C -d) 10C
g 37) What is the name of Al-Biruni's famous book? ¥ zf...l*/(L l{..:..fcfmfiv J&y}"l (37
g a) landscape book A h.,.,Cf(a b) Al havi sl (b | ¢) healing ¥ (¢ | #d) Tahrir al-Makan

g S 7
g 38) What is the number of compounds that contain carbon? ¢ g J‘D/Ju; JUI cﬁ_t"@ gg 8 e al:-(/ ‘f (38
g a) Ten thousand I > > (a | b) Fifty thousand ¢) One hundred and fifty « d) One hundred thousand

g J’/:'J.'l?;(b thousand;l/]ng(ng(c é/ﬂug'(d
g 39) These are called compounds that contain amino acids. i LM ijfgLI: éziiﬁl 1 (39
g a) Carbohydrates JEJE’ L#6(a | b)Fats ujf (b | #¢) Proteins i s, (¢ | d) Vitamins #ls(d
g 40) Which layer prevents ultraviolet rays from reaching the ground? - < Coje 0T P 0 )’/ B4 A /"’J v uf (40
% a) Tropo space vb) Stratosphere j'..‘a/ % ~ (b | ¢)Mesosphere /?fﬂ s (c | d) Thermo sphere
7y v 3
g 41) Used to make useful items from wood scraps and rubbish. - u}&i/d_b f;Lal == L/JJ’ A #6 (41
g a) Manufacturing £ }.:“J #¢ (a | b) Making v Jtz (b | ¢) Rebul\ Ql\%\( \‘?Ed o9 (c | ¥ d) Recycling

g ‘\’2&(\ A S (d
g 42) Which gas helps to block infrared rays? ol @ ° < $2 94 Un s, /ufl:/ (Infrared) ,ul/JI J‘/J’/(42
g a) Oxygen ui"JT (a | b)Nitrogen ﬂg;@:;&g/ « ¢) Carbon dioxide d) Hydrogen 47 (d
g 3 /‘}% 2T 315 K (e

= \W

g 43) Nitrogen is component of. & @J - 97 O j:"l: (43
g + a) Protein dfﬁé (a Qﬁ \i\l,/l)nl ﬁ:jr (b | ¢) Carbon k(e | d) Graphite ...’:.ftg/f (d
g 44) Penicillin is derived from a fungus. - lea JJ"[; & J‘é J:l u:l"“ (44
g a) Amino acids 4 # U (a | b) New Click Acid v ¢) Pencilium (ﬂ"/* *(¢ | d) Genome (3% (d
= J LK ¥ (b

g 45) Who invented the pinhole camera? ¢ g;gl o Ja/{dﬁ ¢L (45
§ v a) Ibn al-Hashim b) Bu-ali-sina tx (¥4 (b | ) Al baruni 3171 (c | d)Dr. Abdul Salam

E fﬁjl i (a Aixf P15 (d
g 46) How long does infancy last? Ve by D dy,ﬂ/ Kdilf /f (46
g a) Six months ob 2 (a | B)OneYear Jb-LI(b | ¥c) Two years J-s(c | d) Three Years Jb- o (d
g 47) How AIDS spread. cedwe U b (a7
% v 2) Virus J715(a | b) Phoenix J{) (b | ¢)Bacteria \ /;.'.; (c | d) Mosquito /f (d
g 48) Photosynthesis is a process. - Jf L ﬁ.“},ﬁ:’ (48
g a) Catabolic Lyt (a | b) Product 252 (b | ¥c) Anabolic 4k (¢ | d) Respiration o= (d
-
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g 49) If a person has blood group A, they will have antigens on their red blood cells.

Srsrr PRI F B LN in A B (a9
% va) Antigen A A VL L,?*l (a | b) AntigenB B o 5'?'" (b | ¢) Antigen A+B d) None of these

: A+B 2§41 (c DA AILC
g 50) How many billion pairs are there in the human genome? Sl svany J,‘L & - (¥ &Ul (50
= va)3.2 a)3.2 | b)3.3 b)3.3 [ )34 c)3.4 | d)3.5 d)3.5
g 51) The age in which the child is given the first injection of BCG is : e Ul V- 40 /uf £ br 66§ d (51
§ a) 1sth month b L1 (a | #b) at birth ¢) 3rd month sbc)3 | d)9 month sb d) 9

g =3y L le,g: (b

§ 52) A substance that can cause lung cancer. - < nlb Uls & s Kb L :_}?if“{ (52
g v a) Tar J(a | b)Nicotine J}J’/ (b | ¢) Carbon monoxide d) Nitrogen dioxide

: IS i K (e JAIT 315 R0 £t (d
§ 53) What is the era of Islamic alchemy? ¥ é.l‘:‘U-g(m wfg{dm (53
: va) 1400 AD - 600 AD | b) 1000 AD - 600 AD ¢) 1200 AD - 80%\[) d) 1500 AD - 600 AD

= L O

= » 600 - a) 1400 + 600 =+ b) 1000 - 806 ) 1200 + 600 - » d) 1500
& ‘

= 54) The percentage of water in tomatoes by weight. MQ{\O - Y Bt I3 183 J dg S Ak (54
= NS

= a) 90 a) 90 | ¥b)95 b) 95;&&(% "‘ )97 | d)99 d) 99

= ﬂ‘j\ﬂ >

= 55) Children under one year of age have a very danggr;@,@sﬁi%gase. -« Uk hfl,/z? ool Un S f {c:.. Ju ugi (55
E ob b {H:U }{ =

= a) Tetanus g (a | ¥b) Woogir{% gg\lgh ¢) Wing worm (/s £, (c | d) Small pOX u’( L Je(d
= AN : |

§ (\h\\‘@) ..aJ/h_.lZm (b

= AV

= O P b/

= 56) Hepatitis A 1s the name ofthézgﬁu : - ('l: K (A) u*(fg:;(sé
= va) HBV a) HBV | b) HAV b)HAV | ¢) HVA ¢)HVA | d)HIV d) HIV
g 57) Penicillin was discovered. - (f{ d/ ;;3&;; J,"L{ *(57
g a) Robert Brown +b) Alexander Fleming ¢) Edward Janes =2 324/ (¢ | d) Robert Hook o & 41, (d
g O PRV Lok qu;y? I (b

§ 58) 1s used as a semiconductor? ¢ ‘f_l:'yz JLJ“I /”/i(d: s (58
g a) Graphite <l Lg{j (a | b) Cook s (b | #¢)Bucky Balls b L U( (¢ | d) Charcoal d[zlg (d
= 59) Which s called Master Gland? ¢ et S L (59
g a) Gonads A J/ (a | b) Pancreas JE/C" (b | #c¢) Pituitary gland d) Adrenal gland

JANITAC f Fu(d
g 60) The study of living things by scientific methods is called knowledge. - é..t‘Uvg( H‘ K Sbr L s Lo e (s Ve u’{ - (60
g a) Physics S| ¥b) Biology &ALk (b | ¢) Chemistry J /3";( (¢ | d) Geo—physics Uz
g 61) Leaving TB treatment incomplete 1s equal to. - A (792 1,47 / (e vill d d (61
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§ « a) Suicide d/o;(;i (a | b)Malaria ££/;J' (b | ¢)Polio S ’J»X (¢ | &) AIDS Z4i(d E
é 62) What is knowledge about matter and energy? ¢ Ut -:i S fk Jl:‘? ~ Jtl 7 ol ool (62 g
g a) Chemistry O//i"{ (a | b) Zoology &4 (b | c) Botany dbL (¢ | #d)Physics u’( 2(d E
g 63) Used to make computer microprocessors. &l e 4 it V<LV :/.?L S j{.{(@ g
% a) Calcium (,%;(a b) Magnesium i (b | ¢) Limestone Ol s FU (s | ) Silicons u}gp (d E
g 64) Which hormones does the pancreas secrete? ¥ 4?_(:’// OS2 == u[ }L/%f (64 E
g a) Insulin ﬁr’l (a | b) Glucagan Ol Krg(b Vv ¢) Both A and B d) Pepsin o= (d E
g Us B uslc) A g
g 65) Which gas causes the greenhouse effect? | K i‘_ga, S 7 J’*/ 5 i J (65 E
g a) Carbon monoxide b) Sulphur dioxide ¢c) Nitrogen dioxide « d) Carbon dioxide E
AT I i (a AT dis A Go AT 315 Rt e AT sk @ ]|
§ 66) The top layer of the atmosphere. T s e o Jﬁy & (66 E
g a) Mesosphere }.:V s (a [ #b) Thermo Sphere ¢c) Tropo Sphere d) Stratosphere /"-.:‘”' % ~(d E
g ﬁ.y :"/’? (b “"?;{3}‘ (c E
: D) =
= 67) What are the diseases caused by iron deficiency? (6\\ e =2 Sr Uk § o & d/JujT (67 =
= >N . =
= : . ( / it Y . w , =
= 68) DNA Contains type nucleotides. A\ @ - J"J £ Ik U’);b/z: L (J ...... I $5(68 =
= 7\ =
= a)2 a)2 | b)3 s @< T vc)4 c)4 | d)5 d)5 =
PN - .
= 69) In which river is the blind dolphin ﬁsh&@g %Pékistan? ¢ 2 db d.L. s L J/J{ Udﬁj fj” B UL"/(L (69 =
= { \ ? y =
E NV =
= a) Chenab > (a pg;fté/m% (“ (b | #¢)Sindh »4-(c | d)Ravi Sl (d =
N .,.
§ 70) What is the ratio of carbon dioXide in the air? L & L:’/,._,wl,'i' KJELJ’T d’j K v (70 E
g a) 0.004 7 Za)0.004 | «b)0.04 7% Zb)0.04 | ¢)0.47 2¢)04 | d)40 # 72 d) 40 E
g 71) Carbon does not have an alotropic state. e Jj’ sl b_g};}b d/ufib/(ﬂ E
§ a) Diamond |z (a | b) Graphite < Lg{j (b | ¢)BuckyBalls /| d/ (¢ | #d) Charcoal J,J/,ztf (d E
g 72) A contagious disease is. s S s ] /;/5; = L(72 E
g a) Round worm (49 %3,(a | b) Athlete foot &2 &ﬁ (b | #¢)Ring worm P13 (¢ | & Malaria l;/f*L (d E
g 73) Dengue fever is caused by the bite of which animal? ¢ "T"_l‘:‘!f e LKL JLe e u:’/)léi ‘jéuj’ (73 E
g W e u‘;(a b) Honey bee uﬁ(d/"fp (b | c)Butterfly UJ:: (¢ | #d)Female mosquito g
g /f ol (d E
% 74) If the blood cells are separated from the blood, what is the rest called? ¢ é.t*M*lfJ/JL y uftp “i Sk A Ji = o7 (74 E
g a) Serum 4 (a | b) White blood cells ¢) Protein c)f;/,: (¢ | #d)Plasma btk (d E
§ & 4 (b -
g 75) What diseases do heavy metals cause? ¢ J* - (LM} J/J?bv: S0 (75 E
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A (a

a) Cancer

b) AIDS % (b

¢) Polio

4 (c

L
-

vd) Typhoid j-«-' (d

Lo

76) An example of Anabolism is

a@pakcitybg_%o

o2 2t (a

a) Respiration

vb) Photo synthesm

/f“/ﬁ(b

c¢) Circulation

e Je Sl (76

P (e

ﬂli’(d

d) Digestion

77) Where is the final process of digestion of food?

¢ b U S K2 L SUF (77

v a) Small intestine b) Stomach o4 (b | ¢)Mouth -+ (c | d) Throat € (d
=T34 (a
78) produces oxides of sulfur and oxides of nitrogen. Y. P o JEIT L P Ut 22T L /l’ (78
a) Pleasant weather b) Heavy rain J A asli(b | #¢) Acidrain d) Drought S B3 (d
TILILC Uiz (e
79) When was Dr. Atta—ur-Rehman born? w il R ._J/ Ol /‘”/fj (79
a) 1940 a) 1940 | b) 1941 +b) 1941 | #c) 1942, ¢c) 1942 | d) 1943 ¢ d) 1943

80) Which scientist was the first to discover that the speed of light is faster than the speed of sound?

Qc'_./ oJLJd_JL’Jd/J’Jl JUJJ&«J/MJLJJ&C’-JLU’MVJ((SO

o . f“’ 8 \S
a) Abu Ali Sina b+ d‘ 4 (a | #b) Al baruni d} A,’J ((b | ¢)Alrazi c}éf/'l (¢ | d)IbnKhaldun  @sa¥ 2 (d
81) The name of famous book written by Al Bairuni is : <\ ?r.;*_. grt KEC(JBT oj’ J&yj’l (81
a) Kitab—ul-Mauizer vb) Al- Qanoon-ul- /\\ ﬂ 67 \é) Al- Havi u';Gl (¢ | d) Al- Mansori dn"J 1 (d

/L;u, ..1..«@/(3

Maasodi

fjl,a_,Jldd J/

J@1 (b

m\\

y and become part of the body.

82) Food components are absorbed mtw

-LVMC" ngJ?/ﬂ .._..ubuﬁ()*?;i'].!cf.d/l;i(&

a) Metabolism

(JU. L (a

V b) Assimilation u’ﬁk#

(b | ¢) White cells *

<A (¢

d) Serum

¢z (d

83) Water has a density at 0’ C.

-?Jﬁ&"ﬁw/&géooe(&%

a) 0.9590 / cm’
a) 0.9590 / cm’

b)0.9390g / cm’
b) 0.9390g / cm®

v'c)0.9990g / cm?

c) 0.9990¢g / em’

d) 0.9790g / cm’

d) 0.9790g / cm’

84) Unnecessary and inappropriate fear is called.

- cﬂ-t‘ﬂg’(u;’ 215 bl sl b & (84

a) Hysteria L~%(a | #b)Phobia !{)’ (b | ¢) Depression d’”‘:u;ﬁ (¢ | d) Delirium d /.1155 (d
85) Who developed the smallpox vaccine? : d/ yj i JK J.‘.’EJ d/ u/ L Jlﬂ’ (85
a) Alexander Fleming b) Howard Florey c) James Powell J:g/f (¢ | ¥d)Edward Jazz
G er,,/? | (a Py 54 (b 2 34 (d
86) The disease caused by 10dine deficiency. -< (3:/5 oy S/ %« JJQZF{T (86
v a) Goiter 2'{ (a | b)Ni ght blindness ¢) Malaria Qﬁ..l‘ (c | d) Cough o/' u/(d
S st (b
87) The function of white blood cells. e S E e L s (87
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v a) Immunity

= 4 (a

b) Gas delivery

Fodu B

¢) Blood cloting
Jlf:l Kc}i‘ (c

d) Food delivery

S oNnBAC

88) This endocrine gland is called the master gland.

- c;_.l:‘(g

ok ol Sk A1k 1 (88

« a) Pituitary gland b) Thyroid gland ¢) Adrenal gland d) Pancreas JL/%‘ (d
1§25 (a FASORIAC i Seih (o
89) Gland located on the front side of the neck. - 1";! ........ 3 h b (ﬁ d/ c);j (89
a) Pituitary J/#(a | ¥b) Thyroid 41 3% (@ | ¢) Adrenal J“4 (¢ | d) Pancreas JL/C* (d
90) Which disease destroys the body's immune system? P 0 S ol :(rlb (:"ju L (; Sie § wd (90
a) Polio 24 (a | b) Flu #(b | ¢) Measles » 2 (¢ | vd) AIDS J4(d
91) How many alotropic form of carbon are. - b .._,g;ﬁz‘:l ........ J&JK@}
a) 1 a)l | b)2 b)2 | ¥¢)3 c)3 | 4 d)4
92) The percentage of nitrogen in the air. S I u Jgf}/bft - 132 (92
va) 78% 414 2)78 | b)21% #41)21 | ¢)0.04% 442¢)0.04 | d) 707 44 d) 70
93) Silicone is obtained from. f:’(?éf;\l‘ ¢ c;_.t"yz J’ilp u:&/ (93
v a) Mika 2L (a | b) Magnesium :“: (b | c) Chr%mg@\gj - («f /(¢ | dJimStone @ ff (d
94) What is the color of the round worm? fﬂiﬁ\\?};i\ Ve by L:_fj; Kr,u 431, (94
v a) White pink 4%~ dlg (a | b)Black @@Dd}ale white 4% |k (¢ | d) Black and white
ﬂ%\{%’)\/ £ d
=45
95) Buali was Sina. .;/QG\E/ b, _& J‘;{ (95
a) Chemist e ,l:«d/ (a | ¥ (l;)\ﬁtéﬁ .ac?st 1 (b | o) Biologist 224 #L(c | d) Astronomer :.,g@ sl
=
96) are like plants. \\j\/ - C//j’ d/u;:j: (96
va) Fungus élﬁ’ (a | b) Alghe (j (b | ¢)Bacteria L /;,g (¢ | d) Virus J s (d

97) The amount of energy gained from one gram of fats is :

_%Jﬁdjlﬁjlﬁfdyd/&)lc_u‘?ﬂjug(97

va)okeal & Fa)9 [ b)18keal G ED)18 | )27keal G F )27 | D36keal S £ d)36
98) This is called the protective cover around the earth. P ‘a.b'l)-g( =l u‘ﬂ’ & :/f .l (98
a) Mesosphere /'%.V s 72 (a | b) Thermo space v ¢) Ozone ¢2isl (¢ | d) Stratosphere /'::.y % ~(d

v # (b
99) One gram of fat produce amount of energy. - 8:@' S S 2 J(fjl & ujf ri/ﬁg..gl (99
va)93keal 7% £2)93 [ b)18keal 7 Fb)18 | )27keal 7 F )27 | D36keal  zuH £ d)36

100) How many hormones the pancreas make in the human body?

bl 72U - (’ JU JL/%' (100

a) 1 a)l | ¥b)2 b)2 [ c)3 c)3 | d)4 d) 4
101) Hepatitis Is a disease e Sk ygl _________ u*yli’ L (101

« a) Of the liver d/ /5 (a

b) Of the stomach d/ <. (b

d) Of the pancreas d/ Jg/%: (d
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a) Magnesium f“’"rf{ (a | #b) Calcium (f*(‘{ (b | ¢)Phosphorus J#76(c | d) Flourine ¢/ 9 (d
103) The basic organs are the reproductive system. Ut A4 e sk (103
a) Glands }i&g (a | b)Pancreas ;g/% (b | ¢)Kidneys s/ (c | ¥d) Gonads Jﬁ;i (d
104) The best food for an infant. ekl rd L2 47 2104
a) Bread (j,u (a | b) Meat =2 (b | o) Cow'smilk 2302 €(c | vd)Breast milk 253 KUl (d
105) Which gas helps maintain the earth's temperature? - K su U é) J'/“/,' =N 7 o0 209, J;U' d[(lOS
« a) Carbon dioxide b) Oxygen j:% (b | ¢) Nitrogen JaFle | D Hydrogen 44 (d

21T JL’S o K (a
106) Causes of dengue fever. P e UEJ (106
a) Fungus u’é (a | b) Bacteria L /;'g (b [ #¢) Virus J71s(c | d) BothBandC

Us C s d)B

O \.»_t'Ma/»fTw}%m u:“ﬂ!ru:ﬁf(lO?
/“ N *

107) it 1s @ mixture of methane, ethane and propane.

<;’__,.,»-’ "
a) Natural Gas etroleum -3/ c) Coal'L C ol these o
v a) Natural G b) Petrol 2(b | o) C aﬂ(\\\ J/(c | d)Allofth . (d

A 35 L <\

108) The chemical that is present in cigarette smoke and/m?k 5 u addicted to cigarettes.

P y
. \L’(fy\/ ...z.'_.l:'lfd;b Kh_f/é;,lg_;iyu‘“u"f’; d..;;/‘//ﬁﬁw(lOS

a) Tar J(a | b)Nicotine f\/\ @" j/ (b | ¢) Carbon monoxide d) Nitrogen dioxide
N . < ,
@@ AT Iy K (o T 5 2
4\ N
(‘x\ .
109) The pancreas releases hormongs. - c:_.l:‘/ N0 ;g)} (109
a) Insulin fr’ i (a | b) Glucagon S 6¥ (b | v¢) Insulin and glucagon d) Pepsin F=(d
Uf()gj}i dr’l (c
110) Jabir bin Hayyan was an expert in which subject? ¢ 3 A Ky U ol b (110
a) Astronomy ::-f.(;@ (a | b) Biology S (b | «c) Chemistry &{(C d) Physics U/ 2 (d
111) Vitamins are divided into groups based on solubility. -l ‘l{(:;’ - u;’:.a/'ﬁ,;; s d/(j,;,g S [/'?lfj (111
va) Two »5(a | b) Three uf (b | ¢)Four Jlg (¢ | d)Five ég (d
112) Vitamins are obtained from milk, eggs and animal livers. - ﬁz.t'bgd'i b o L U8l sl Uskl ¢ 93y o Es (112
a) C a)C | ¥b)B12 b)B12 | ¢)B2 c)B2 | d)BI d) B1
113) Contagious disease 1s. - Sk db .:_j, Jlgi ugl (113
v a) Cholera /6 (a | b) Tetanus u;: (b | ¢) Typhoid 62 (¢ | d) Hepatitis u’? 1% (d

114) Which form of carbon used as a semiconductor, conductor.

-c::_.(jj’fdl?:”'{'})b L/U/jﬁ/*ﬂ/jl/u‘:ypb ugjﬁl Jcﬂ)g(llﬁl
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A A
g a) Diamond | ze(a | b) Graphite < Lg{j (b | #¢)Bucky Balls b ’ u{ (¢ | d) Charcoal d/,zlg (d
g 115) Most abundant element in the universe is. - ook s b ol e o Je =K (115
g v a) Oxygen ‘f'{r (a | b)Hydrogen & 2,44, (b | ¢) Nitrogen 17t (c | d) Carbon -6 (d
g 116) An example of anabolism. e Jlf’» Jff"ftz’ (116
g a) Oxidation ‘ﬁ*,‘;/ T(a| b) Reception c/tz u;’i) (b | ¢) Regeneration g_ﬁ',‘ A S (¢ | ¥d)Photo synthesis

g b u"’“’ 49 (d
g 117) There are blood groups. - ..,._..«)/f Z s (117
= |22 D2 | b3 b3 | Vo) D4 | ds OF
g 118) Allah Almighty gave Pakistan wealth of - Ly Z/ =y d/ iiiiii ful:f@ i JG) (118
g a) Oil Jf (a | b) Water dg (b | #¢)Minerals =l w* (c | d) Chromite L AC
g 119) Jabir bin Hayyan is called the founder of. - ‘c.l‘;‘lglf(ég fu.tg ¢ 2 (119
% « a) Chemistry g }’i{ (a | b) Astronomy $9 ~1(b | c)Physics J( Al | d) Biology S (d
% 120) There are almost all types of mammals in Pakistan. ..Lw/“’y oY rlﬁl d/uy:jlg IV UL'P@ (120
g a) 100 a) 100 | +b) 200 b) 200 | ¢) 300 . 1«3@2“@) 300 | d) 600 d) 600
g 121) The hormones which control the involuntary actions of body 1 }i& /\ <>_¢. l‘:’/ J: /’/ e JL:}I Sl / Z f) Ol L-J/ (121
% a) Thyroxin JJ/)J J¥ (a | b) Epinephrine O Q?l/ (;}}SE\ICQ Adrenal Sk (¢ | d) Insulin fr’ 1 (d
= A . )

g 122) What nutrients do rice and wheat provide? w’%\)}:y ) L/y A7 % u[r,&’/ﬂi J}Lg (122
g a) Protein c)'f){, (a | b) Fats /\u{({bv‘/ ¢) Vitamins #ts(c | #d) Carbohydrates u"izif Ly6(d
= NS

% 123) Water soluble vitamin if. & Gs?) Ut = u/u:’//*?lfﬁ /“,%, J? ke d.lz (123
g a) A a) A @B\) b)B | ¢)D c)D | DK dK
g 124) It makes two types of hormones. - bl gy A L (3 » . (124
g a) Pituitary gland b) Adrenal gland ¢) Gonads ;fgf (¢ | «d) Thyroid gland
PANITAC ok Sk (o 11 30, 36 (d
g 125) What causes the HI'V virus in humans? C Ut o KUk u/u’j‘l: HIV U~ Uil (125
g v a) AIDS J41(a | b)Cholera /6 (b | ¢) Smallpox H“Gf* (¢ | d) Measles »~ (d
g 126) What is the ratio of nitrogen in air? P-— d/uz:f‘/l: e 12 (126
% va)78% Za)78 | b)79 % Zb)79 | )77 7% 2¢)77 | d) 767 %2d) 76
g 127) What type of rare gas 1s used to treat cancer? ¢ < 3:? JWI (j vl UIJJ‘TZJJ “i e (e 1/(127
g a) Neon T+ (a | b)Argn 8.7 (b | #¢)Radon ks (c | d) Crypton ul’&./ (d
g 128) The stratosphere contains a special gas. Which is called - :Jd - 3%‘ 2 ﬂ’;u"b LI ﬁy %~ (128
g a) Oxygen f'f T(a| b) Hydrogen 2,44 (b | ¢) Nitrogen a7t (c | «d) Ozone sl (d

Please visit for more data at: www.pakcity.org

LU e e



9th General Science Full book solved MCQs www.pakcity.org

O
% 129) How many calories per mole of energy are released from phosphate breakdown? %
g e o AUy §u E o 292860129 %
% a) Thousand calories :;u..‘/ o/ #(a | b) Eleven hundred Vo) Twelve hundred 1) Thirteen hundred %
g calories 7%+ A (b | calories 2 v »s4 (¢ | calories i v £ (d %
g 130) The temperature of the thermosphere. e Z‘ /::; ¢ /,.{, f/; 7150 %
g a) 2500 C a) 2500 C | #b) 2000 C b)2000C | ¢) 1500 C ¢) 1500C | d) 1000 C d) 1000 C %
% 131) The objects on which an enzyme acts are called. - d.lTLa U/u”/l ¢.l‘:’/Jf (’l/l df/ pl/! s (131 __g
g a) Coenzyme F lj"" ¥ (a | ¥b) Substrate <« (b | ¢) Amino acids.i/ S (c | d) Metabolism . Jyes(d %
% 132) Name of Pakistan's Nobel Prize winning scientist. _e K I = I’L’J' J:} Jd Ut-"(_l; (133 %
g ¥ 2) Dr. Abdul Salam b) Dr. Abdul Qadeer Khan ¢) Dr. Atta-—ur-Rehman d) Dr. Munir Ahmed %
§ e uf Hli(a o2 H15 (b o s M55 (e 22 5 g
g 133) Scientist credits Shaheen for building missiles Is the head of il . I P Jfl/"f AB(184 %
g a) Dr. Munir Ahmed b) Dr. Ata-ur-Rehman ¢) Dr. Abdul Qadeer « d) Dr. Samar Mubarakmand g
g Khan @b jl/f//y/’j (a A s /’”/!5 (b | Khan b 4ﬂlﬁ/}£{(c o ._J/JL»/}(S (d %
E /"(3\5?) ) =
g 134) The male the reproductive organs one called. {65\g st Y *:/_f S 9211 20 (134 E
% a) Gonads u}f (a | #b) Testes fff (b O‘Eg\@:‘!\é&@u Sl (e | d) Gland #(d %
= A% E
g 135) The liquid part of the blood that does not contain bhaQFl eﬁ PR TP . I é(, K o7 (135 %
g a) Receipt dul-;_’i; (a | b) Anti gen /Q(.{r:@/ >-‘::/) Transgenic ._Q-") /(¢ | ¥d)Plasma itk (d %
% 136) The thickness of troposphere is. /QG\E/ </ “‘v" e JB’:/‘ J/%V {,’Jﬁ K d/f-.:"” 5 (136 %
§ a) 15 km K )15 bl\\ SO\ 2 E6)16 | ) 17km HED17 | vd)18km X ED18 %
g 137) is formed by the c%vmlcal reaction of oxygen and nitrogen. - (b = Jf dt-f'/ Z u? 't ol gfji (137 %
g a) Nitric acid 42 S #t(a | b) Nitrogen acid ¢) Oxide of nitrogen v d) Nitrates u—: Fe(d %
L P Fe o AT L R F e
% 138) When was penicillin discovered? ¢ Jﬁ =y '-,de.y“‘(l38 %
g a) 1938 + a) 1938 | ¥b) 1928 b) 1928 | ¢) 1918+ c) 1918 | d) 1908« ¢ d) 1908 %
g 139) What was the population of Pakistan in 19987 0 (f; d:L ngET Juw 1998 (139 %
g a) 150 a) 150 | b) 140.5 b) 140.5 | ¢) 140 c) 140 | «¥d) 130.5 d) 130.5 %
g 140) Bronchitis is a disease of which organ? ¢ e S d/ o J/ujfg”: (140 %
g @) Hear > (a | b) Liver k(b | o) Lungs « 2% (¢ | d)Kidneys s/ (d %
g 141) Needed for healthy dental development. - /63 “i L s or o5 d/ U (141 %
g a) Iron 7T (a | b)Iodine /57 (b | ¢) Table salt L (c | vd)Fluoride 2 (d %
g 142) One hot carbohydrate provides energy. e &yz J’ib L J(}.jl ~ u‘ijé’l,:f,:?(f.g (143 %
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% va) 4.1 keal b)5.1keal s £b)5.1 | )d5keal S F)as5 | d)55keal S K55 %
g d,uﬁf;ga) 4.1 E
g 143) ........ Used opium to anesthetize for the first time. -gdl.ﬁ’f K 43_ L é_/u’"ﬂ s it J:ﬁ O e (143 %
% a) Aristotle #-/(a | b) Al baruni 3521 (b | ¢) AbuAliSina bx (4 (c | ¥d) Al razi S (d %
g 144) Insulin deficiency causes disease in humans. - d:" A S Un U e 2 JL}/JUJ!'J' (144 %
g a) Fever J=(a | b) TB d (j (b | #¢) Diabetes ng L3 (¢ | d) Goiter 25 (d %
% 145) The knowledge of the stars and planets. . ‘;_t, ng( (L; {U”.L:' o Unte (145 -_g
% v a) Astronomy -.::gw (a | b) Geography 212 (b | c)Agriculture =#1,;(c | d) Botany Lfb L (d %
% 146) From which gland does insulin come? ¢ %t,ﬂ Jib . ,t,f u/ Jr’l (146 %
g a) Adrenal gland +b) Pancreas :L/E‘" (b | ¢) Thyroid Gland d) Pituitary gland __%
g F Sl Ga 2 1z, 36 ( i?.gd}"é(d g
g 147) Thickness of atmosphere : " 5”‘ d/['ﬁ“'ﬁ..l (147 %
- ) 100km < #£2)100 | ¥b)200km < £b)200 | )300km < £c)300 | d)400km < £ d)400 §
% 148) An example of narcotics is. O@z\\] - Je Juj/;l: Mg %
g a) Aspirin U /:..’) 4 (a | b) Drugs S50 | o) Mor]ehm@ \ - u" A (c | d) Broufen u’ sz (d %
E > =
g 149) It is called the process of becoming old. ﬁ\ \\ . ‘?-VM/J:? gj&”/ 140 g
g — £33 (a | b) puberty ,&ﬂm((};; (v Aging % (c | d Youth A1z (d %
= NS §
g 150) Knowledge about plants. ) j“%\/vi@/ U Té J Hi Jw. ) U (180 g
g v a) Botany U.f!a (a | b) ZOOIOE@\@ %;l 2 (b | ¢)Medicine g (e | d) As tronomy . gﬁ fk (d %
g 151) Snow an floats on the surfa/ce’b\/a‘ith water due to <l 5/3 / i/ Jd,l; o 23 d/ iiiiiiii TR %
g a) Lightweight () f/ (a ~/ b) Less dirt ¢) Low quantity :;5/ H/ (¢ | d) Low temperature %
g “'"‘BC(((b =7 > H/ (d §
g 152) The reason for the lock jaw is. e Jlf’ 143 %
g v a) Tetanus djf (a | b) Typhoid 467t (b | ¢) Cholera /6 (c | d)Malaria L;," (d %
g 153) The process by which green plants prepare their own food in sunlight. %
g 'sz-/igffvﬁff@'uﬁfﬂzJézr;;;’:fQﬁf“(lﬁ %
= | 9 Respirtion %25 (a | wb) Photo synthesis O Catabolism (246 (e | ) Osmosis x| S
g 7 «fr/!)’ (b %
g 154) Where do we get plastic? ¢ g d"_/(fla _ ut,_»(u@& (154 %
g a) Coal K | b) S0ap ¢ile (b | #c)Petroleum ﬁ-{} (e | d) Water dg (d %
g 155) What is the main cause of the destruction of the ozone layer? ¢ §-£-(A3>3 S Jtﬁ-l}’ d/%}. JJZUJJJI (155 %
g a) Chlorine CZ"’K (a | b) Smoke J#>(b | ¥c¢)Chlorofluorocarbons d) Fluorine CZJ:G (d %
g U:J%J}Euyg(c g
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% 156) What is starch? . %g@‘{b o %
g ¥'a) Carbohydrates wij?&ﬁjg(a b Futs ujf (b | c) Vitamins ¢ ts(c | d) Protein F 1, (d %
% 157) The amount of water in the bones depends by its weight. PRy 20)7 Ll e Jd& Uik (157 %
g a)75 7% 2)75% | b) 74 % b)74% | ¢) 73~ D737 | wd) 727 797 g
% 158) Vitamin helps 1n blood clotting. - OA7Z K4 s i Z e (158 %
g va)K a)K | bE bJE | ¢)D c)D | DA d) A %
g 159) This disease is most common in women. - Jyz e I8 F ol S o (159 %
g ) Depression ﬁ/«?"j (a | b)Neurosis J” 1.5 (b | ¥¢) Hysteria L ~(c | d)Phobia L# (d %
g 160) How many ways to get fats? ¢ st 5'15 ' L/J'ila u‘ﬁ:’ (160 %
g ) One dia | ¥ v »2(b | ) Three % (c | d) Four /g (d %
% 161) Which gas in the atmosphere has increased due to pollution? ¢ & .(fﬂ,ji N KJ;JKJ H ko >3 Juzsz (161 %
g v a) Methane u:}')" (a | b) Ethane u:;; (b | ¢)Oxygen u’:/ 7(c | d) Hydrogen 047 (d %
g 162) Water contains a solution of potassium nitrate at 50 C. e d{ UL a2 J_{*/,L flf’! L C50 dL (16 %
g V3508 w)35.0g | 173305 b)33.0g [ ¥c)84. Og/Q D'84.0g | 850 d)85.0 g %
= 7S g
g 163) Kitab al-Manazir is the first comprehensive book. Of\?&/\ L/ o ..,_.fl:—( e &{, P! u:.«C((l 63 %
% a) On Heat 4 =7 (a | «b)On the light g‘" ;(P; (g;) \;({,f)lce b7 | DOnthewaves <uz» (d %
g 164) What science is called physics? /f//y ¢ .‘{fk) e KJ:"{L’ 5 U!(/gf// 164 %
S 0% Foto] on (e | d) Sound wi| S
g 165) Carbohydrates present in mllk/$ (& - c;_.t‘!r? IR e 239 8 qjgujg( 165 %
g a) Glucose 7t IK (a <b:)§F/ructose T8 2 (b | ¢)Maltose Al (c | «d) Lactose 540 (d g
g 166) The example of anabolic chemical reaction is. - qu, «.5/ Jj 3.‘:‘5 J:’,l:;l (166 %
g a) Respiration o= z% (a | +b)Photo synthesis c) Digestion ff Jlj' (¢ | d) Germination gf-f SPAG! %
: Pl 10 :
g 167) Ozone gas forms a protective sheath in which layer of the atmosphere. %
g -1—‘-3‘31-51«9L}wwdﬁ#ujd/ﬂj”t‘awfwm(lm %
g a) Tropo sphare +b) Stratosphere j;..y % (b | ¢)Mesosphere f-.:“’" 352 (c | d) Thermo sphare E
g Rl G e #(d g
g 168) The third layer of the atmosphere is called. - (‘W.ﬁ? S K/':::a' ks (168 %
g v a) Mesosphare b) Troposphere }:‘V 927 (b | ¢) Stratosphere }:V # #(c | d) Thermosphere /"'-;‘”' » #(d %
g ﬁy s 2 (a E
: — - g
g 169) Which one is bacterial disease? %’pakmty.or-g% f o U 'y J..i? g g
% a) Small pox JK{,’ Je (a | b) Measles » ~ (b | ¢)Polio Pni (e | vd) Tulber Closes %
g & A (d g
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éIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII]IIIIIIII]IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIlIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIlIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIllIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIé
S 170) Destructive chemical reactions that take place in all living things. g
é -U.?Tc’f[alﬁg Jgd/d“} LIyl s Ja LG ”'U}(WO E
g v a) Catabolism (j"’f i/ (a | b) Anabolism (7:.’,[2';,1 (b | ¢) Metabolism (7;’,6;: (¢ | d) Trapism ('2:1} (d E
§ 171) What is the process of breeding sheep that resembles parents? g
g ?U.?(?/JigjLfﬁ-dfq_’%.g:lﬁ‘);{ﬁﬁ.q’ﬂl:(lﬂ g
: a) Genetic engineering b) Biotechnology G.#t€ #L(b | #c)Cloning &+ (¢ | d) Molecular Biology =
e b G Sba| B
§ 172) Opium and morphine are important examples. -t ﬁ (> i uf-’ 1] fffv:l (172 E
g a) Pain killer "’/{‘Jf (a | b) Sedatives ivk i~ (b | +¢) Narcotics JE}KJL (¢ | d) Allofthese (U - (d %
_E_ 173) There are different types of influenza viruses. e fLS' d/ A ' 7{’ ]@l o E
= |2 2)2 | ¥b)3 b)3 | ¢)4 )4 | ds os| £
g 174) According to the ancient philosopher, the world ... Made up of elements. E
wgth ) e P i AL FBES(T74 E
= a) 1 a)l | b)2 b)2 | ¢)3 Oré{,\ c)3 | ¥d)4 d) 4 =
= Z ‘\;ﬁ 1 E
E r,,f” ““\\\; ., <S -
= 175) It is a disease spread by bacteria. ” ;:) - Sk s zﬂff o E/;g (175 =
g a) Hepatitis U“? 1% (a | b) AIDS %1 (b %({\\8}/ ) _\tanus Lf}: (¢ | d)Polio r’..z (d E
= 176) Which controls the involuntary functions of the bo \J/Z \j SIS e g F L f; (176 =
g v a) Adrenal gland b) Thyroid “’@W (b | ¢)Pancreas i Lo | O Pitu tary gland E
g Md‘/}il(a /(\/\x /\</\w i;djé'(d §
2 177) Used to make non-arable land g _é_t’nylf;'“’“LLLt: =K e :J/uf)w}/g(lﬂ =
§ a) Plaster A~ (a b%SR/cone u:gt’ (b | #¢) Gypsum (’f (¢ | d)Limestone o f; y(d E
g 178) Which vaccination is given when your baby is 9 months old. - ufiyg.f fl}? VI b 2EO Z 2 (178 E
: a) Of malaria §L=(a | ¥b)Measles ¥~ (b | c)OfTB §3J (c | d)Diftheria L~ 3 (d =
§ 179) Diazepam and Lorazepam are examples. U d:'lf" (‘..Lf- s sl |’1Lf~) J’j (179 E
g a) Of narcotics J‘J—g’("l’ (a | b) Of painkillers d/f)(uf' (b | ¥¢) Ofsedatives JJ!EJ;’ (¢ | d)Hello Sino Jeans E
g Srzsekd| &
g 180) Who presented Islamic chemistry as an experiment? ng J_ J/;_, % JL/" !(.L;{J./dib’l (180 §
§ a) Abu Ali Sina bx J‘ 4 (a | #b) Jaber bin Hayyan c) Al baruni d}/:" /(¢ | d)IbnRushd & ek (d E
- g s 4l (b =
g 181) The residual after separation of fiber from plasma called. - Ul X 2 e iyl ai}.‘ 5 /-.:’ < Lilk (181 E
g a) Complex fluid 7 8 0 45 (a | b) Plate fats ujf 2k (b | ¢) Levcosytes Y S | »d) Serum > 2 E
g 182) The wavelength of the sun's rays is. - 3}’: 5 'e d/uflzﬁ J@Jr’ (182 E
g v a) Less f/(a b) More »lJ(b | ¢) Small J#Z (¢ | d)Long J;,b (d E
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S 183) How many kilometers does the troposphere extend from the surface of the earth? g
é Ce (ndE FUA R ET Sutsfe g 22183 S
- a) 16 a) 16 | ¥b) 18 b) 18 | c) 20 )20 | d)22 d) 22 -
= | . =
§ 184) The DPT vaccine is a treatment of. % PakCltY-Org %‘3 ce llk L ¥DPT (184 g
§ a) Of diphtheria KE /j’d s(a | b) Whooping Cough ¢) Tetanus Ku"p ~(c | «#d) All of these g
g 185) The virus causes the disease. _%Jﬁ Sk e 2 Ju’f'l:(ISS _‘%
§ a) Cholera ~(a | b)TB Jd (b | ¥e)AIDS 7% (¢ | d) Tetanus NacdCH I
g 186) How many books did Alberoni write on mathematics? ¢ Jf‘jujc‘/gjy,; =l L (j“’g,z d Jg/;.Jl (186 g
E a) 50 a) 50 | «b) 150 b) 150 | ¢)250 ¢)250 | d)350 d) 350 =
g 187) What is the ratio of carbon dioxide to air? s W/JU AT g?m G’,; K (187 E
§ a) 40 7 Za)40 | b)0.47 2b)0.4 | ¥¢)0.03 * %¢)0.03 | d)0.004 * %d) 0.004 §
g 188) There is no vaccine of -%ﬂfgg J)’/d/ iiiii F108 E
g AT b/ rd E
= a) Hepatitis A </ U b+ (a [ b) HepatitisB U= tl+(b | ¥c) Hepati;i%@,\\j d) Polio xy (d =
E r},f”” "‘“\\\g’.} '*1’:: 1-; / . E
: (O vuFigle =
= AN | &P =
= 189) Cellulose and starch are. 2 2’\3}\ U B sl 398 (189 =
s z 2 —
= b 3 p (Y . =
g a) Fats J%(a | vb) Carbohydrates ™~ /47| 408 @g&’) &) Proteinia 725z (c | d) Minerals 4 (d =
: C};{\/ — =
g 190) Fats are digested. /<6>u/ Ul (M, u_,:’ (190 E
= OO =
= a) In the large intestine vb) In Il intestine c) In the stomach (&~ s (c | d) Inthe mouth U< =+ (d =
E ST $%(a ﬁ KT 382 (b g
E %\p - = oo P o . = E
= 191) Geography is used to graph different areas. ..zf..dta d/d,v _jl/d/u,’up_jﬁ:j Ld;/,;e(lgl =
g v a) Earth o~ (a | b)Sun Gy (b | ¢) Agriculture =1, (c | d) Medison w v (d E
g 192) Fats are formed by the combination of: Ut 2_ uij 'y U) }m-g“ (192 g
g a) glucose /¥ (a | b) water + carbon dioxide v ¢) glycerol + fatty acids d) amino acids + water E
g f?’mdﬁcﬂ%+&g(b jig,ld'..‘;ﬂ_),/;(c &g:+p“|;fu(d g
g 193) One of the hardest things in the universe. - bﬁl./i & U Jr1 7 g_'):; -5 Ja@?( 193 E
% + a) Diamond | (a | b) Graphite 225 (b | ¢ Silicone 5 (¢ | d)Iron ¥ (d :
§ 194) Biggest source of energy for cell. LY e e K G JJ{ (194 E
g « 2a) Proteins /f L4 (a | b) Fats u:‘:.’ (b | ¢) Vitamins 2l (c | & carb ohydrates Y. /f‘:':lt y K (d E
§ 195) Starch is. e Bt (195 §
§ a) Fats u’i.i’ (a | b) Vitamins ks (b | #¢) Carbohydrates J‘i 4|86 (c | d)Protein uf 9/ (d E
§ 196) Emission of CFC gets cause. _ +Q sl 7 1 Kuifkfuﬁuf(l% E
%IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIE

Please visit for more data at: www.pakcity.org



9th General Science Full book solved MCQs www.pakcity.org

éIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII]IIIIIIII]IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIE
= | @ Soil pollution b Air pollution ¢) Chemical pollution d) Airpollution (9T dT(d | 5
: 597 8 (a ATIC IRV g
é 197) Which a disease caused by scars. - Sl bls &_wt | Ay, e J/:{’l (197 E
§ « a) Round worm b) Thread worm (23 A /3 (b | ¢) Wring worm (9 £ (¢ | d) Typhoid y 14 (d E
g (49 £31,(a g
§ 198) Dr. Ata-ur-Rehman has a number of research papers so far. il DY J,;p & A J?..._A S s /‘ﬁj (198 g
= a) 100 2) 100 | b)200 b)200 | v¢)225 ¢)225 | d)250 d) 250 =
g 199) What is the final result of fat digestion? e b S il K| L 3L,§ (199 g
g v a) Glycerol + fatty acids b) Glycerol U3 /.'.? (b | ¢)Fattyacid L (_;‘ﬁ" (¢ | d) Glycerol + Water E
g i:ilé‘f?+dﬁﬁg(a d‘l{,"'dﬁﬂg(d E
g 200) Is a mixture of chlorine? ¢ < _‘/(/. gc{ﬂg(ZOO E
E a) PUV 2) PUV | ¥b) PVC b) PVC | ¢) PAC &) PAC | d) PMC d) PMC =
g 201) It is the basic component of all living things on earth. R Salx 6 s3I AL r[/‘" S b 3& / (201 E
§ a) Nitrogen s Ft(a | «b) Carbon ¢+6(b | ¢c)Hydrogen /,_ao{z 2,47, (¢ | d) Oxygen f/T (d g
: D) =
= 202) Who wrote the book Al-Shifa? ("i}“\f\y — - it J J( B a.:..fl:f(202 =
g a) Ibn Al-Hashem (:';J ¢ (a | «b) Abu Ali Sina g?) @\\’Ffﬁaﬁ&% &) /:“ (¢ | d) Jaber bin Hayyan g
= o =
= li“.:’tf:f b/??)%f b s e (d =
; /\.‘,\J/L:; E
§ 203) Unit of energy 1s. P Cf;i/\/ - Jﬁ d/&)l aJ/J/la e J# (203 §
= KO ) =
g a) Meters A~ | b) Kil()grarnr;\i\ afrlfyg(b «¢c) Calories d,,y/(c d) Ohm fq” ¢ E
g . . . . ‘ -\l\j}v ¢ . § S E
= 204) The deficiency of 10dion in hurpg;{lg Ey cause - ot 3! (dﬂﬁ u) Je UL Jd/d:”: 7 (204 -
E / N ; =
= V) goiter % (a | B)cartcer /.,‘/ (b | ¢) tuberculosis /'flb/ ~% (¢ | d)None ofthese =
: U dd(d =
g 205) Whose duty 1s it to rid of smoking from society? ¢ < J/ b/gf/l:/'/d/.l; & uﬁi /lr‘? /L/"l;v‘ (205 g
g a) Of the government § =57 (a | ¥b)Ofall ofus ¢) Minister of Health d) Ofyouth ¥ U2y (d E
§ K & (b K5 s (c E
g 206) To which branch of science does Ibn al-Hashim belong? ¢ & f/lf; d/ J UIL, JJ"’ K fi‘ﬂ"‘ | o (206 E
= | @ Sound 7 (a | b) Heat =17 @ | vOLight  Fule | d) Chemical Suda|  E
g 207) It is a component of all living things. Y. § o2 1L ru; _ (207 E
g a) Helium ﬁ{-r/‘ (a | b) Argan JE7 (b | ¢)Neon ¢y (c | «d) Hydrogen 247, (d E
§ 208) The ratio of oxygen in air by volume is. _ ?—b"f Z (& e gwff/’r AL (208 E
DR 2)20% | b)21 7 b)21% | )22 )22% | d)237 D237 |
= 209) Which are called fossil fuels? WIS el 00
: a) Coal £4G | b)oi (b | o) Gas UG | wdAllofthese (| E
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0000000000000
% 210) In which city was Dr. Samar Mubarakmand born? Ll ¥ ﬁ; uf)w _J/JV/? /J,(’j (210 %
g a) Lahore s (a | #b) Rawalpindi SAssls (b | ¢)Karachi & /(¢ | @ Sialkot o0 - (d %
% 211) At what age is a child vaccinated against measles? ¢ o bl L':F,g uw@ (o 3 j/"i 2 U/(ZI l %
g a) Six months ot 7 (a | b) Sevenmonths ol =l-(b | ¢) Eightmonths sl 2T (c | ¥d)Ninemonths sl ¥ (d %
% 212) The word "live" means. e F 2 B %
g - & (a | b)Sky T (b | ¥c)Earth ¢~ (c | d) Sun Loy (d %
g 213) Total number of people living in an area is called. ¢ *:4{/},,”3' F Sy St L 0/(213 _g
g v a) Population u:*"' #L(a | b) Species 52 6= (b | ¢) Community 5 }f/ (¢ | d) Habitat < (d %
g 214) Causes lung disease. ) g_b/l,g: Sk JU!}’{*'?; E14 %
g ) Chlorine dﬂg(a vb) Smog j’/ (b | c) Oxygen J‘*JT (¢ | d) Hydrogen UL 347\ (d %
% 215) Vitamin A deficiency causes disease. e Jﬁ S = L{JLf S (215 %
% o) Rickes u'i'/,; \a | b/ Night Blindusss c) Sucruvy JJ/C' (¢ | d) Cancer /5/ (d %
% U2 a2t (b g
g 216) The outermost layer of the atmosphere. - ng@;\ ce s sl e er J/"-;‘” & (316 %
g a) Troposphere /?‘y 4’; (a | b) Stratosphere /f'f/ %/ (b | IM ?‘i Q:i r/ /dy 372 (c | #d) Thermosphere %
ﬂ&\iﬂ\ A Al E
% 217) There are different types of flu. /; \\ \j o (L-?l J( ly':,ﬁjf y B (417 %
g a) 3 a)3 | b4 ) /{%j@ﬁi 4 )5 c)5 | d6 46 %
g (\g\ OV E
g 218) Genetic engineering in the medica f’%ﬁi}is been developed against hormones and various incurable diseases. g
g ‘ﬁuﬁu}/;buJﬁLubv Ll S sl gy &5 & R B gt & L Fse (218 %
g a) Medicines =\ (a K\)ﬂlb) Vaccine u::’( *s(b | c)Drugs Si | D Bnergy 31 (d %
g 219) Which gas is used for premature ripening of fruits? - &,g e Ufu)fc;]- S 2—5., =) J? [urlﬁ’ (219 %
g a) Methane d:;ﬁ (a | b) Hydrogen 247, (b | #¢)Ethane Ufh | (¢ | d)Oxygen ui’—’f 7(d %
g 220) Hepatitis is the disease of . e u"’/K iiiiiiii &Ul J?Eu - %
g a) Heart Js(a | b) Skin & (b | #c)Liver e (¢ | d)Lungs U!/ d %
% 221) Exercise Maintains body . - o J’;A IO d/() u’",};; (1 %
g va) Flexibility — (a | b Bones J#4 (b | c)Energy S (c | d) Shape F @ %
g 222) Which gas contains about 78 of the atmosphere? ¢ 2. LY’J/JZJU Llp 3L 42 78 Lg,;J e /'%f’“ & (222 %
g a) Carbon ¢-/6(a | b) Hydrogen 142, (b | #¢) Nitrogen it | D Doyt fci' a %
% 223) Water is part of the human body. PP N CB.&, o3 %
g a) 307 448 2)30 | ¥b) 607 44 b) 60 | c) 807 44 ¢) 80 | d) 907 2 d) 90 g
% 224) All proteins are made up of twenty type of . Y - AP L (:’ JE V4 L (:’ (l/" (224 %
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§ a) Hydrochloric acid b) Sulfuric acid ¢) Amino acids A/ Fav (¢ | «#d) None ofthese

L i Ga 2o Lo (o 3
g 225) There are 180 kcal per 100 grams of. - 33'5 ¥4 (IjIOO (} J 42 d/dn‘:.frg 180 (225
= | a)Mea =2/ (a | vb)Egp % (b | ¢)Pea #(c | d)Potato J7(d
g 226) Highest amount of 1s present in body after water. Ve JJQL@' i) & o & L dg Un () (226
§ a) Oil JJT (a | #b) Protein cjf:,; (b | ¢) Amino acids 42 5 U (c | d) Carbohydrates  (*.4| #.6(d
g 227) Genes are used to make SO -EE NI D" "i PED N d/(:’ S <2 (227
g + a) Protein 0'5:4: (a | b)Gas J{ (b | ¢)Fats 31/5 (¢ | d)Iodine ¢/ iy 7(d
g 228) Things are heated in sterilization at. ¢ <k g(j 5 U2 2 e sz U~ (228
= a) 138.9°C £a)138.9°C | b) 158.9”C £b) 158.9°C | ¢)128.9°C —Fc)128.9°C | d)148.9°C £d) 148.9°C
g 229) Which disease is prevented by getting BCG vaccine at birth?

: ¢ Qb Sk 5 o = B £ EBCG = £ Pl (229
% a) Hepatitis U’?’E"L»j (a| ¥b)T.B d & | ¢)Measles o/j (¢ | d)Polio )J..gf (d
=

= 230) The pollutants that cause environmental pollution are called waste and waste. ) )

E r"fuﬁ‘:\\gé‘ &% ‘ ;

= - 2 P ai Lt & 2ol §odT S UL (230
§ a) Detergents U< 23(a | b) Habitat 2 gt (b @J\uwnt S x4 (¢ | d) Global warming

= 17 ) _ p

= {\ﬂé:ﬂ Lo J!g(d
= AN .

= 231) Incurable disease is. ﬂ”é\t’// —e S Lkl L1231
g by \ \"‘\‘xi‘j b .

= a) Tetanus v« (a | b) Tuberc lg’)\é\g O\ ],,K #%. (b | #¢) Cancer /f:( (¢ | d) Woo Ping Cuff

E "‘\{\Lh ) i & =

= 232) The germs of which diseaségfm rapidly in milk? Ut Ll Ung < U7 U 2293 (: 1z L Sk JK(232
g a) Cholera ~2z7(a | b) Cough S | vo) Typhoid 467 (¢ | d) Tetanus u’:': (d
g 233) When was the term biotechnology introduced? el L?'K(jb/..);b? JCW! JJ:’LQ #1(233
- a) 1696 ¢ ra) 1696 | «b) 1970+ #b) 1970 | ¢) 1971+ c) 1971 | d) 1972+ ¢d) 1972
g 234) How much temperature is given to food items during sterilization.

E _e bl g;/:f./.;/b S s § & W g £ 270 (234
= a) 145.9 C a)1459C | b)1449C  b)144.9C | ¢) 146.8C c)146.8C | ¥d)1489C d)148.9C
g 235) A disease caused by a deficiency of vitamin B1. - 3:’5 Tl e u{d/Bl OAZEA S/ 03 (235
g a) Sucrovy d:/c (a | b) TB BJ (b | c)Rickets J"C (¢ | «d)Berry Berry

PRPIC
g 236) Where does roundworm live in the human body? - ;.L?/;; uL;’/ e () &Ul (23 £31,(236
g v a) In the small intestine b) Inthemouth  (~ =+ (b | ¢)Intheliver (X £ (c | dnthe large intestine
=T34 (a U =T 2 (d
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237) Maintains the temperature of the earth.
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e U5 e S g L (237

a) Thermo Sphere

}:a’y‘/?(a

b) Mesosphere

}f/:)f(b

ﬁ.‘aﬂ {"3.; (¢

¢) Troposphere

v d) Atmosphere <> & (d

238) These are compounds containing amino acids. a%iakmty.org

a) Carbohydrates <z 474

K(a | b)Fats ij (b

- LMiigLi; &, L #1238

« ¢) Proteins 7'::'34 (c

d) Organic compound

sl T (d

239) Vitamin D deficiency disease

Sihe s vt (U = JJD ¢ (239

Y2l
L

a) Pneumonia

(a | b)Malaria

L= (b

« ¢c) Rickets

S

c}@(d

d) TB

240) Disease against which DBT injection is not effective.

i%ujjy‘ﬁl KJQJ?JWZJ?JJ@M(ZﬂrO

gfj,ﬁ(a

a) Diptheria

«b) Polio

oy (b

¢) Whooping coughuj Lc(d?(c

o (d

d) Tetanus

241) What is the other system besides ABO blood group system?

?a:'_.l.)}((ul/u..gaﬂkL(&/ABOfsji&(Zéll

+a) Rh a)Rh | b) RHO b) RHO | ¢) BHO ¢) BHO | d) ARh d) ARh
242) Disease caused by a virus is. - Sk dls o |hs, e (J 713 (242
+ a) Small pOX f s Jlr“ (a | b) Cholera /6(b | ¢) Tetanus ) 0 . W (¢ | d)Malaria g/.-} (d

243) Medications that are used to treat bacterial infections are called:

<L,x

O NN

..gj’dlle/ ,"j@ JCW:CU)’JV dbfa:..L/C:’uLulJ‘l(243

a) Antigens e C‘;"i (a | b) Antibodies 73l u’b“'\ ng Sedatives ¥ M (¢ | #d) Antibiotics
2 \\}\J Vel L S5 (d
' r\\d/
‘( Z P o -
244) In how many years will the pOpulatlon ‘§® istan double? . d/ b ¥ (jl/}} Yol d/ c)l,“z'/g U UL 4"'./ (244
\\

va)l7 a) 17 b? 3 b)27 | ¢)37 c)37 | d)47 d) 47
245) Great source of vitamin A a%e.}/ Lol en B A (245

a) Meat =2 (a | ¥b) Vegetables JL 7 (b | ¢)Fruit J‘-’{ (c | d)Milk 233 (d
246) Name of Ibn al-Hashim's famous book. - rl: 1 E__‘C(m:‘v J/ (%J [ il (246

v a) Kitabul Manazar b) The book of healing c) Al chemist .L;':U/l (¢ | d) Written by the owner

}L‘Jl ..T.«LT(a

A3 (b

‘;/JLUI/;}(d

247) Blood groups discovered.

= 4:; "’:’.l::” .,'_‘,3/'#5 o (247

« a) Land Steiner b) Thomson i B (b | ¢)Morgan LS| D Fleming i LP(d
A 4 (a
248) The disease destroys neurons. il Y d"_la ¥ o7 }lf,e) ez (S ) (248
a) Smallpox 5 (a | b)Flow # (b | ve)Polio 24 (c | d)Measles »~ (d

249) Fossil fuel used to make nylon and polyester.

. ol (‘KA: it 7l d,f 3 UJLJU:?JJE (J":’ (249

a) Coal .L";( (a

«b) Petroleum

ﬁsﬁ,(b

¢) Natural Gas J[(j;ﬁ (c

depf (d

d) Mineral oil

250) The temperature of mesosphere layer is.

s A R e (250
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a) =300 C a)-300C | b)-200C b)-200C | ¢)-100C c)-100C | ¥d)-50C d)-50C
251) Oxygen and Nitrogen react to from : - (o J’f 69{.'/&/‘}):}5'[. 2l J"—‘JT (251
a) nitric acid A J FL(a | #b)Nitrogen oxide ¢) nitrogen peroxide d) nitrates J?- FL(d

BT P AL T P Ft (e
252) Trachoma is a disease. - Uk o Lk 2 (252
v a) Ofthe eyes d/uyfT (a | b) Ofskin J/&t" (b | c) Throat J£ (¢ | d) Ofthe nose thlr (d
253) The ratio of carbon dioxide in the air. s W AIT B8 ik U 12 (253
a) 0.06 “Z2)0.06 | b)0.057 “b)0.05 | ¥¢c)0.04 % %2¢)0.04 | d)0.02 % %.d)0.02
254) The United States has a growing population. - ST 3ol U /"‘ d/ £ 1(254
a)2.5 ” Za)2.5 | b)1.37% Zb) 1.3 | ¥¢c)0.67% 2¢)0.6 | d)0.27% 2d)0.2

255) In it the internal structure of the earth and the terrestrial phenomena are studied with the help of physics.

_‘ﬁ:_m?gc_,u Jujﬁ,ﬂwf K rbs J.ijlwv&u,cl Ju:;u:m(zss

a) Biophysics JK/ <L (a

b) Biochemistry 2% #L (b

v ¢) Geophysics u’(/ 2 (¢

d) Astrophysics uj f: }‘T (d

256) Stay, bag and what kind of trout are fish?

xQ@E\/E ul.ig; J/"’ Lf/ubflj 23] ,k; « %,(256

a) Marine

Lﬁ)ﬁf“ (a

b) Of hot water J dg (’j (b

i‘P water

INBAC

V) Of fr

&\&\

d) Deep water Jdg ;j(d

fﬂ

-
257) It helps to make a hormone called Thyroid in the thﬁ@?ﬁl’; nd.

258) Which of these rays prevents (I

) ~y

ne layer from reaching the earth?

S P, Y P 186 i L Ut 2 5, 36 (057
Py .- o _ , -
a) Calcium < (a | b)Iron /Q\é\/@ ©T (b | #c)lodine ¢/ 31 (c | d)Fluoride 219 (d
%] S

?é.@’/uc_;ﬂzgfﬁ)!UfWJU[JU})}I(ZSS

2K 1l

« a) Ultraviolet

(a | b)Infrared Al P

(b | ¢) Visible

J= s (c

d) All this V. (d

259) All the pollutants that cause pollution to the environment are called.

_%?LMfu‘?il_ﬁf ?J))T JJ}’L.ZL.JLMG rl/" 23 (259

a) Bestreet <. (a| b) Smog j # (b | ¢) Detergents u'j’f Jx (¢ | «d) Pollutant U‘T'j )’;’f (d
260) ........ Can be reused. < ‘a.f:cla LL: Je1 K6 0493 S o (260
a) Gas u"'*f (a | b) Cock df (b | ¢)Oil J'KT (¢ | ¥d)Glass 22 (d
261) The genitals organs are called. S S WT 2L uﬂ (261
a) Pancreas JL./C“ (a | b) Pituitary gland ¢) Thyroid Gland + d) Gonads I J(d

FERZAC ik 4p 36 C

262) Mechanics, heat, light and sound belong to which branch of science?

?g_.c;.élﬁgf(d/url/(}w(}bfmfﬁﬂ&}lff;f%{QtSZ
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§ a) Earth science b) Astronomy ..*:,.L:@ (b | ¢) Chemistry ¢ /”/ﬁ( (¢ | #d)Physics gf/ 2 (d
g jjﬂl Hi(a

é 263) Which disease is caused by a virus? ¢ & &L“f = Sk L:)/(263
= | va)Polio JyGa | D)T.B 3-d (@ | o) Diftheria LZ 3 (e | d) Malaria L (d
g 264) Where does the process of protein digestion begin? P {/,/3’ u[,fJf K|, e dfﬁ{. (264
g a) By mouth & -+ (a | b) Small intestine ¢) With large intestine + d) From the stomach

g =T 342 (b e =T 8% (c < s (d
g 265) Which nutrients are needed in the least amount in the body? ¢ & Jﬂ' Y AP f/c_ — i () d/pll?l JU«E JK(265
g a) Carbohydrates Sl L #,6(a | b)Protein 8- sz (b | ¥¢) Vitamins s (c | d)Fats o= (d
§ 266) Another name of dengue fever is. - (U1 6 u@ﬁ (266
g v a) Bone fracture fever b) Armpit fever c) Meningitis /& /4 c))j (¢ | d) Leg-breaking fever

E ESTIAE IESIDAC YESTIIAC
g 267) The length of the threadworm. - 3}/5 &J Jpl; 2/; (267
§ a) 6 cm a)6cm | b)Scm b)Scm | ¢)3cm L ¢)3cm | ¥d)1cm d) 1 cm
D) .,.

= 268) What is the element used to treat thyroid gland? = U:(M\i/ﬂl: v J* é Lot L MK ¢l O (268
E v a) lodine 3T (a | b) Copper £E(b /\XI}?@Q\O 7T (¢ | d) Sulphur /"L’ (d
= 2\\ i k .

= 269) A fever caused by the bite of a female Anopheles nms{ghmj - Uy KL /"'”f 7ol 2 Az L1269
g a) Typhoid 467t (a | «b) Malaria ﬁ (@ ¢) Dengue ué»j (¢ | d) Influenza ¥ el (d
g 270) Todine 131 is used to treat which gla%@@a%eb/ ¢ = Jla JJLJ‘I “L i CLle L i‘zg‘//Bl d_:i'ff (270
g va) Thyroid ey, dw (a P’\t@/ﬁr} S /f: (b | ¢) Adrenal J‘"Jil (¢ | d) Pancreas ;‘l;/%' (d
g 271) 1s commonly ush)for irrigation. - by Jes e Hi L gf"l: T (271
g v a) Tube-well b) Tractor /“.'./ /(b | ¢)Harvester /=3 (c | d) Thrasher -y AC
g J.J *--'f (a

§ 272) These are called small units of DNA. - 3%((_)?(! dsZ Jc.l ¢ U3 (272
g a) Newcleoidy — J& .L:?,j (a | b) Substrates u‘f’: (b | ¥c)Newcleotides d) Nucleic acid

: Jazt o 7 (o Ll 2K 7 (d
E 273) How long does the early childhood phase last? Ve lwbs fof 2{.10/ K‘_[*f 31,3:1 (273
g a) 16 - 19 year b) 12 - 16 year c) 6 - 12 year Jc)6-12 v d)2 -6 year Jod)2-6
g Ja)16-19 J-b)12-16

§ 274) The number of people living in an area. - :c"_’//;lﬂ Jufﬂ LI &t o 2l oj(274
g a) Species /f (- (a | «b) Population u:*’J 4 (b | ¢) Community § ).:f (¢ | d)Habitat <2 (d
g 275) Which proteins give the body immunity against diseases? ¢ (Jf 2/ A P ed Sl L Jyxk S () f}é 24275
g a) Antigens g (,?E*l (a | «b) Antibodies 75l J’lf (b | ¢) Antibiotics u’gft J;’*l (¢ | d) Anti-money § (j;:'l (d
%IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII|IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
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S 276) What percentage of an adult's body weight consists of water? € < v J'}v b dk 2 U ZKU,}: L f) Z Ui dL (276 g
= a) 40 a)40 | b) 50 b) 50 | ¥¢)60 c) 60 | d)70 d) 70 :
§ 277) At what temperature the density of water 1s maximum? ¢ < Jy,; 45/5 u/&""“j ol J e ol ) JL}L (277 g
= 2) 0 C 2)0C | ¥b)4C B)4C | )10C )10C | d)100C d) 100 C =
% 278) Dr. Abdul Salam Were eXperts. -& 4l o (UJu/ j’flj (278 E
g a) Biology &Y ¥l (a | b) Chemistry d/i«{.((b v ¢) Physics uf/ G | &) Math Lfbki (d E
§ 279) Which vitamin deficiency causes osteoporosis? fe u"‘" 25| K ek e Jd/uxh u/(279 -_5
§ a) E a)E | ¥b)D b)D | ) C c)C | DA d) A =
g 280) How many liters of air does a man use daily to breathe? ¢ q.-t'/dbx“l v /aj g;;;w “i S 4 uJ'L, ST ug, (280 ;
§ va) 15,000 -20,000 b) 17,000 - 25,000 c) 26,000 -30,000 d) 21,000 -25,000 -
5 a) 15,000 - 20,000 b) 17,000 -25,000 ¢) 26,000 - 30,000 d)21,000-25,000 §
§ 281) An example of an organic compound. —e Je Jijgu@T (281 E
§ a) Water (}L (a | b) Carbon dioxide ¢) Plastic L_E«JJ« (¢ | #d) Cellulose s (d g
g T 08 b ("Q\ /\\1 g
= \\ #L §
E 282) Vitamin C deficiency causes disease. (\ ( O -y T J - K Sk J> de/" 5" (282 =
g a) Rickets JJLC (a | b) Night blindness @ Sucruvy d}/(’ (¢ | d)Flu £(d E
g JE i U/‘uﬁ-ﬁk(ng E
= @’;\v % 5 , =
g 283) Penicillin was discovered by : A Q\J . dv’ J =33 MM” (233 E
g a) Robert Brown vb) Sll‘ I F( leming ¢) Edward Jenner d) Robert Hooke E
g Uiz ez (a | and lorey =25kl (c ,(_b__u:lj (d g
E Q%S/ Jﬁ'u@.:l’w.i?l/(b E
g c’..uﬁ E
g 284) An element that exists in more than one physical state is called a state. E
§ "?-JM*J‘”“%-W”?”uﬁu%dfbwkic-e{'uﬁdlauu{uz/?4(284 =
g a) Organic ._éfﬂ (a | b) Non-organic vc) Alotropic ».g f).l'.f (c | d) Non-Alotropic g
g .—@Tut(b Ug;)&’ St (d E
§ 285) Pakistan's annual population growth rate. - (-5’@7 Sl C/;‘: Ul JUL"/’/L (285 E
§ va)2.67 2a)2.6 | b)1.57 Zb)1.5 | ¢)0.6% 27¢)06 | d)0.2~ %2 d) 0.2 E
g 286) T. B is a disease. e S .{1 d- 3 (286 E
E a) General rl (a | «b) Transitive S#>(b | c¢)Epidemic 8@5 (¢ | d)None of these E
: S e tu@| £
g 287) Which cells in the human body transmit gases? i JU!’{)"/ 2 f) L1 (287 E
g + 2a) Red blood cells b) White blood cells c) Platelets uj';’ =4 (¢ | d)Fibrinogen of /.o (d E
K 44 ¥ 4oty (o
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ey KN n J/G(ZSS

a) Lactose L. (a | b) Sucrose nf (b | #c)Glycogen y‘: LK (¢ | d) Fructose TS 2 (d
289) An element found in hemoglobin and myoglobin that carries oxygen.
ce A KU 2 b s L L U i A et (289
v a) Iron 7T (a | b) Coper £6(b | ¢) Sulphur /J’ (¢ | d)Iodine 3T (d

290) Which vitamin deficiency makes bones soft and hollow?

¢t Qe Eof ot o ud et £ S ot 0 (290

a) Vitamin A A ¢/ ts(a | b)Vitamin B B ts(b | ¢) Vitamin C CJ b(c | #d) VitaminD D ¢ (d
291) Gland system without ducts. - (b‘/ ig{.{_/, ij/j’/fj (291
a) Respiratory system b) Excretory system ¢) Circulatory system + d) Endocrine system

(b/d/"’:/ﬁu(a

SR (b

WG

Sk (d

292) The gas found in the stratosphere is.

ce Ut b LUt Ak 092

v a) Ozone ¢/2js1 (a | b) Carbon ¢+6(b | ¢) Oxygen J;:/ 7(c | d) Chlorine e/ )5 (d
293) Function of WBC. - g (KK% A 2415 (293
a) Blood cloting b) Oxygen delivery V) Controlling@@}rmune d) Getting rid of bacteria
CL uf,cé) (a Jf}' d/df:/f(b system L/fdﬁ}“’(ﬁw u”u (¢ L@ftfc (d

294) D. P. T-injection is not effective against which disease.

Q\\;\Luwffduﬂidﬁ‘uj‘f(!'gd § - J3(294

- ;/j \vg
+ a) Diftheria L /j’“’ 5(a | b) Polio r'f@ibgz\ kc%g’\?\/()a:)plng floor d) Tetanus u‘”: (d
V}? N\ Z ,;
ﬂ,{:\\@/ Jug}"} (C
( (E?\/ i o . .
295) This is called blood clotting protein n.t lasma. - dlkrw:,(: Jb \z ;(c)i e ,»)145 (295

a) Chips geneci¥ (7 (a

Lz (e

¢) Substrate

v d) Fibrinogen  *% / (d

AN
b) Herq@&b)n d:rgff (b

J
296) What is the disease causedb&ygr;imal bite?

??Jﬁdﬁgujy(c;qﬂﬁ%(296

« a) Rabies o (a | b) Rickets Jy; (b | ¢)Polio r'..gf (¢ | d) Small poOX J/ gf dk‘ (d
297) A noble gas is. - ﬂij! u{l - (297
a) Flourine e s# (a | b) Chlorine ¢/ 5 (b | ¥c)Neon ¥ (¢ | d) Hydrogen 042 (d
298) The name of the AIDS virus. - (l: K7 K JAx1(298
a) HBV $-0-81a| vHV &H-3T-80b | DHAV  Srocd-Eilc | DHOV  G-s-E1(d

299) By what process does carbon dioxide rise in the air?

?%Gﬂiafﬁgmglfdjgu:lﬂ(299

a) Waste compilation

+b) Respiration f /_3:.’3-; (b

¢) By becoming a vapor

d) Nitrogen fixation

e Ao (a f‘_"..—d'-/jj (c uz,a/""fl: (d
300) Ibn al-Hashim is associated with which branch of science? ?§. o é/lf-’ u/d/urb’ Jw K(:“dl <~ (300

a7 (a

« a) sound

b) Heat =17 (b

¢) Intuitive

SA4 (e

d) Chemistry

dLd(d

301) An example of an organic compound.

- Ji s G ol
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O
g a) Water (},L, (a | b) Carbon dioxide c) Plastic ._QL}: (¢ | #d) Cellulose sk (d %
g 2T 313 2K (b E
g 302) Who should exercise according to the doctor's instructions? b &/’/j;ﬂ b L =cli d’/bf,j S 51 A J/(302 %
g a) Suffering from heart b) Diabetes J{*y Li(b | #c) The first two d) None of these %
= [disease B oSG Jin & (e VAICH I
g 303) Which nutrient does the body need in least amount. Ve Jyz YA P {L — }(() «.5/57 51}5 df(303 %
g a) Carbohydrates  z/4446(a | b) Protein JE sz (b | #¢) Vitamins #ts(c | d)Fats uj:f (d g
g 304) This element is used in making lead pencils. -l J&1 6 2% 1 et J" 4 (304 %
g a) Sulphur /J" (a | b)Zinc (b | v0) Graphite i...wLaJ/'/ (¢ | d) Calcium : < (d %
g 305) Dr. Samar Mubarakmand passed the M.Phil examination. .._t:-(u’ L ' KJ; él i & ..cy /? /U/lj (305 %
g a) London o4 (a | b) New York _,C‘l’,. v (b | «¢c) Oxford 5 ,E/(T G | Cambridge . /:‘f(d %
g 306) Which controls the amount of glucose in the blood. _ ﬁl-t'/dﬁ/w//ﬂﬁf d/f[fgu: 47 (306 %
g « a) Adrenal gland b) Pancreas }L)%‘ (b | ¢) Thyroid Gland d) Gonads U f (d g
g i‘fﬁvii (a ﬁ:g)( JW (c g
g 307) A disease caused by a deficiency of vitamin D. A \3\?/_ J | Ay, S5 L U/JO'J OATEA S/ 09 (307 %
g a) Sucrary Lfﬁ/'/’ (a | b)TB d (j (b V@L \ O u’/; (¢ | d) Anemia "l,f:‘,,i (d %
e
g 308) Genetic engineering 1s a method in which ... Are tra;n\s&m&ﬁ*om one organism to another. E
g 'Lﬁgbéﬁuﬁc\é Gk e e iy L G e ab L E R B2 Gos
- [ viamin 7t (a | ¥b) Genes| & N5 2 G | @ Protn A1 (e | d)Blood SEICH I
T ..,.
g 309) Malaria Bacteria Are transmltte'@lg utting. IS e 2L -1 Z | 2 (309 E
= | 9)Dog (a | b)Cat S | o Ant J (| vd) Mosquito Aw| =
g 310) Fats are digested. ~utZw MK G0 %
g a) Large intestine =T §% (a | #b) Small intestine c) In the stomach (=~ o4 (¢ | d) Buccal cavity %
=734 G LS|
g 311) Fats soluble vitamins is not soluble. - uﬁ/ Y JP U~ de ....... g (311 %
= |0 DD | DA DA | vOB OB | DK ok |
g 312) Which of the following is found in three physical states? $ e Jb J.lz. S U uv’? Ufj O)}((?: 19 %
g ) A s | V) Ve 3 (b | o) Fire ST | @ Soil § (@ %
g 313) What are the diseases caused by mosquito bites? ¢ < Jyzl A e uf:_, c¥L /f (313 %
g V') Malaria L/:L (a | b)TB d J (b | ) Hepatitis oE 1w (¢ | d)Influenza l"/“fl,-vl'?J 1 (d g
g 314) Plant leaves contain sodium. ey 5‘% L d/f':jﬁ" U s uu{f o %
g 2)10-15% Z%a)10-15|1b)16-20%2 %b)16-201|c)12-16%2 7c)12-16 | «d)0.01-10 # %
: £d)0.01-10 | 3
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g 315) Phosphorus is an important component. -y ad LI #6315
= 2) Todion 3 £7( | b)Florin 740 | ¢)RNA ¢)RNA | vd) DNA d) DNA

g 316) Essential for dental development. - S ai "A VY- Ju}’:l: (316
é a) Hydrides 14 (a | b)Iodide 57T (b | #c)Fluorides i ,## (¢ | d) Chlorides J K 95 (d
g 317) 100 grams of egg provide energy Y = (’leOO L}ZJ!..J!K _______ é—t‘/'/&?’ EA 0k (317
= a) 65 a) 65 | b) 109 b) 109 | c)348 c)348 | ¥d) 180 d) 180
§ 318) When was Dr. Munir Ahmed Khan born? s e M LA Jul& VY4 /}”/l.‘? (318
= va) 1926+ ¢a) 1926 | b) 1937+ #b) 1937 [ ¢) 1940+ ¢¢) 1940 | d) 1945« ¢ d) 1945
§ 319) What does the vaccine help the body do? - &/’/M o L guﬁ (2 fg, (319
g a) Antigens e (3'}*' (a | ¥b) Antibodies  z5l (,?*l (b | ¢) Sickness S/ (c | d)Blood s (d
g 320) Prepared alcohol through fermentation. - J v JF ’G, Z_J3 L/:; (320
E « a) Al Razi d}l/l (a | b) Dr. Abdul Salam ¢) Bu Ali Sina b+ d‘;j (¢ | d) Al Beruni &;/}Jl (d
= P14 A5 (b

g . ( (T—’é\\ 3 Z

= 321) Smog causes disease. 5 ¢ \fi?] - Qs Sy Jf (321
= (O)° . p

= a) Heart J} (a | ¥b) Ofthe lungs c) Of br xa{l}“‘*’/ d/u)l/ (¢ | d) Ofthe kidneys d/uu/'/(d
Suret o | 265

= ()Y . .

g 322) Vitamin D deficiency causes which disease? f’/\\\ﬂ“&j ¢ 2 d/l,g, Ik g”ffd/dj < Es (322
= ) —Fo> ) )

= a) Pneumonia - ¥ (a | b)Flue f{@%(b v ¢c) Rickets U’// (¢ | d) Tuberculosis /"/}K sy (d
: NV .

= 323) Genetic information is transferred/bﬁ $ _4.(:'/'/ JV = d.l? Lo (323
g a) nucleus J’K v (a b)(chroﬁéosomes /y’r‘:f (b | #c)genes 2 (c | d) gametes uj/j/ (d
= ~>* 3

E 324) The compounds that combine to form fats. - "L u“'j e & L d} fcfgn (324
g a) Glucose i E (a | b) Carbon dioxide + water + ¢) Fatty acids + glycerol d) Water + amino acids

§ [}g + 2T Jlfi 6 (b J:/.:ﬁi-—;l &?(c A" &g (d
% 325) Invented in the distance. _ J)w o (325
g a) Jaber bin Hayyan b) Al baruni &: /:" /(b | #¢c) Roger Bacon d) Ibn Al-Hashem

= > ¢k 4l (a ugﬁl;(c (3)! ¢~ (d
g 326) It is an important part of the body of living things. Sp-ay 4d Kf)' L U4k (326
% v a) Water dg (a | b)Food SOTICEE. Oxygen J:(T (¢ | d) Carbon -6 (d
= 327) Water boiling point is. ceedy B 6 3L (327
= a) 10 C a)10C | ¥b)100C b) 100 C | ¢) 1000 C ¢) 1000 C | d) 10000 C d) 10000 C
g 328) Where does the process of protein digestion begin? Ve by U3 /7 2 ut{dj K (44 L f}{, (328
§ a) By mouth « -+ (a | b) From the throat ¢ ¢) From the stomach d) With large intestine

g c:..ﬁ(b e < . (c e = T¢%Wd
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O
% 329) is derived optained from Jim stone. e - o (5 (329 %
g a) Chromium (7: 3/ (a | b) Silicon u&’ (b | ¢)Bharat = £ (c | ¥d)Diamonds < (d %
% 330) Poliois a contagious disease. e JJV; o _{l ’sz.’ (330 %
g Vel G irne b) Of bacteria JE;{: (b | ¢) Of Phoenix g J() (¢ | d)BothBandC %
g JJ}D s J#C . d)B g
§ 331) Which one is needed for blood clotting. ce U d DL (33 %
% a) Red cells K 4.(a | ¥b)Platelets U= 2k (b | ) Whitecells #4245 (c | d) Serum -z (d _—g
g 332) The pancreas makes hormones. e bh A J&/E: (33 %
% a) Thyroxin cf(b 39 (a | #b) Insulin uﬁ'ﬂ (b | ¢) Adrenaline u‘.{t; /4 (¢ | d) Estrogen <P 221 (d %
g 333) Plants contain magnesium. e 334 o d/(‘?? p- U (333 g
% va)0.1t00.4 % b) 0.3 t0 0.4 * ¢)0.2t00.4%%20.4 £c)0.2 | d)0.5t00.4* %
g 20.462)0.1 204 b)) 0.3 T g
% 334) The human body needs amino acids. e 3!5 s ingl £ / () &L.Jl il g
= |04 240 | )30 w0 0N 5002 [ 10 D10 =
g 335) Medications that affect mental functioning are called. A (:\ L: Jﬂw‘/u*' d//lx‘ :KJ;)/JKU"; FECIRIINY (335 %
g ) Pain killer 1% ¢/* (a | b) Narcotics Sal I j@@\ " % 4 (¢ | #d) Hallucinogen ;=2 5% s (d g
% 336) Is the disease spread by female Anopheles? //\\J/j@d ¢ e Sk s #: _ 7&3;' i (43¢ %
g ) Tuber culosis b) Whooping cougli © {3/ c) Diphtheria .lr./:;" 5(c | ¥d)Malaria L= (d g
% J/!{J::f(a rﬁi\wjf’(b %
g 337) This is called the study of all ﬂﬁibmé%emlcal and chemical factors that occur in living things. %
g W _Lt*uf,ﬂlbf KJ:idL/J;tJéyL(v Ity iy & Ushkb (337 %
g ) Biology 54 £L G | b) Astronomy (45 #T(b | c) Physical chemistry vd) Biochemistl‘yd/”'{ r41¢ g
A IIC
% 338) The example of anabolic chemical reaction is. e Ji de J.L:‘.:’,/J;flgl (333 %
g a) Respiration ﬂ/f{v (a | #b) Photo synthesis ¢) Dyeing ‘_f:.“" J, $(c | d)Jeremy Nation %
: > 95 G Fora|
g 339) 1s the largest source of energy. e e K(jl:l; (330 %
g a) Electricity Lg{ (a | #b) Sun ¢y (b | ¢)Fire 7G| D Gas Jf (d %
g 340) Where is the Thyroid Gland located? ¢ ‘:_t,ﬁ C}:’J y UL;U’.‘-;:KE’U JLE? (340 %
g ) In the brain S0 | D) Intheneck of u;f (b | ¢)In the arm - 2k (¢ | d)Inthe leg et (d %
g 341) The process of converting atmosphere Nitrogen in usable from is called as: %
% o bbb adb = S U7 S AL (Bal %
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a) nitrogen cycle

/.,.G UZ,}’(; (a

b) carbon cycle /..G o6 (b

+ ¢) nitrogen fixation

fju?,a ¢ (c

& 4T

d) water cycle

342) The gland that controls the body's involuntary functions.

-?..V/JJ}‘J/[JL:.;I d;l;l/j "l ﬁgi::f(mz

S 4 (a

« a) Adrenal

b) Epinephrine LA (b

Jrjl (c

¢) Insulin

d)/b JU’? (d

d) Thyroxin

343) The compound which is required in very small amount :

_éa.aza/bd/(;‘uf;lﬁf (L%Zé’ﬁﬁ&ddﬁgjﬂ(343

a) Carbohyhydrrate

&:,J,?H./g(a

b) Proteins

c)‘faé (b

U2 (e

«¢) Fats

d) Vitamins ks (d

344) Introduced the idea of combining weak nuclear forces and electromagnetic forces.

..gf ,:f/’j KL/G»(JJ//J; u@? Jfgl J:l/"-’ﬂ; J_l(g},f JJ/(344

a) Dr. Ashfag Ahmed

«b) Dr. Abdul Salam

¢) Dr. Atta—ur-Rehman

d) Dr. Munir Ahmed Khan

e AWt 15 (b oz s 215 (c et 2 A1 (d
345) Foods that contain all the natural nutrients. il | 46 Jb d/pl'/i'l Jlﬁ (31/3 (‘l} (345
a) Rice J:Lg (a | b) Fruit J‘é (b | ¢) Wheat (',f (¢ | ¥d)Milk 2395 (d
346) Vitamins is not soluble in fat ............ " (4{% u’/ /» J’V ks d/ _________ < s (346
a) A a)A | ¥b)B b)B | JK () \\i 2 K | DD d)D

347) Muhammad ibn Zakariya divided the chemical into many g@g@@s&

O

_g(:;’"u:ugsfifﬁ‘fé_gﬁ@iGM

a) Three u.’.’ (a | «#b)Four /‘JLG' (ILP\; Five ék (c | d)Six Z (d
348) B. C. G vaccine prevents the disease. ,:6\1// - {.C@ Sk ,Q' K6 - - (} (348
a) AIDS ik (a | b) Flu /\ OV #(b | ¢)Cough S | vdTB J- 3(d
349) 100 grams of wheat contams Qﬁé yer kilo calorie. oy-X JI A2# J(ﬁ.}l U d/:g:g(IjIOO e (5(349
v a) 348 a) 348 b)99 | ¢) 109 c) 109 | d) 180 d) 180
350) The compound mostly found on surface of earth. el Engl; b Wl e o U9, i/ (350

a) Calcium carbonate vb) Water JL (b | ¢) Copper sulphate d) Sodium chloride
2ol A (o s K (c 0 i (d
351) The length of the roundworm. - JLJ d/ (9 %31, (351
v2)20 cmto 30 cm b) 10cmto 15 cm ¢) 30 cm to 40 cm d) 20 cmto 40 cm
HE 0 X E D0 | AE 15 XF D0 XE 40 XEF D30 | 2F 40 X F D20

_,.-‘-_._‘_.wt‘i‘Kf*jTu:m(352

352) This is the ratio of oxygen in air.
a) 24 7 Za)24 | b)23 % 25)23 | ¢)227 2¢)22 | #d)217 2d)21
353) Blood groups were discovered. L 4 3|, s S S L 97 (353
a)In1900 X +a)1900 | b)In 1901  U2+b) 1901 | #c)In1902 <+c) 1902 | d)In1903 U~ ¢d) 1903

354) Which gas in the atmosphere increases due to polio?

¢ e Qb ot § UL S SG e ps S S £y (354
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a) Oxygen uf“ﬁ (a | b) Nitrogen s L (b | ¥c)Carbon dioxide d) Hydrogen a4 (d
ff’m Jl;” o6 (c
355) Any living thing that receives an external gene is called. = .:E;I:‘M.:'..L“//Jr": da/’ oy Sz LG (_5@’ df(355
a) Genetic organism b) Genes 2 (b | #c)Transgenic organisms d) Hereditary substances
Jre uéf (a J & \.«Cf)'j (c 2L C;l./) (d
356) The most important part of the human body. 32 Al e o Kf)* &LJI (356
a) Carbon .8 (a | «b) Water L}L (b | ¢) Oxygen ui:/T (¢ | d)Food 7 (d
357) The function of platelets is : -« by rKKJj'j <k (357
v a) Blood cloating b) Engulfing the bacteria ¢) To produce antibiotics d) Transfer of oxygen
(b o8 42 (a 6 L 22 (b 0 e 3L ™1 (e SN ALC

358) At what age usage of fats should be reduced?

?%EQ;/(JWt K UZLE Ut F U (358

v a) In old age b) Inchildhood % ¢ (b | o) Inyouth (& U2 Cc | d)Inadolescence % Y (d
o Z;Lﬁf: (a
359) Which vitamin deficiency causes anemia? *’ e 8" g Kd/d/uf Jd/c/lf’; u’/(359
a) B12 a)B12 | ¥b)B2 b)B2 | ¢c)B6 f’;\e’\gj‘ ¢)B6 | d) Bl d)B1
:;7 "
360) B.C.G vaccine protects children. \,?Q - d{.{ f u:f U.i’ga S-S - d (360
- Na? N b
a) Measles »~” (a | b) Whooping cough J J }%@ vc)TB  TBJ-d(c | dAIDS %1 (d
361) There are different types of metabolism. \{, (\/\/\P -t '*L.ffl d/ r/' Jbx (361
va)?2 a)2 | b)3 ,\\ b)3 | )4 c)d | d)6 d)6

362) The disease against which DPW e 1s not effective 1s.

“\\‘ AN

e U Sy £EE S8 £ U7 Gk (362

a) diphtheria

w? { N\
L~ 3 (@] %) polio

sy (b

¢) whoosping cough

(f. LC

5‘“@

d) tetanus

363) All plants of non—pet animal of an area called.

- Lﬂf’/;!la )'ﬂk/! sl &y 199 rl/" 3k 0/(363

7\ (a

a) Biosphere

b) Population

Jyg’g(b

¢) Forest Life = |> u{; (¢

v d) Hatchery S (d

364) Buali Sina's famous book i

in the field of philosophy.

e U Sl P U e £ 58 (364

a) Tahrir al-Makan

d(l.lJl,;/:(a

b) The law in medicine

Y & I (b

¢) landscape book
ﬁ,fi;L:ﬂ}| ,_:_,t:j’f(i(:

v d) Book of Healing
& 0 (d

365) Chloroquine is used to treat the disease?

¢ e o b L L e £ S o S0 (365

L (a

« a) Malaria

Y

dJd b

b) TB

c) Hepatitis

u’gﬁ’?bj(c

/6 (d

d) Cholera

366) How can air nitrogen be beneficial?

?%Gﬁdﬂufﬁ C)’ u/dz)jjl? (jw (366

+ a) Nitrogen cycle

/.,G S (a

b) Carbon cycle /§ /6 (b

¢) Nitrogen fixation

fﬂgdzafft (c

d) Water cycle /g (_}T (d

367) How old should a child be vaccinated against polio?

?%EJQ@.“{,A;J/L}Y/;QM
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A
% a) Two year Jl./ »s(a | b) Three year Jl/ Uf (b | ¢)Four year le _zlg (¢ | «d)Five year JL/ é.l: (d
g 368) Calories is the unit of. 88 - oS8 Ges
§ a) Sound T (a | b) Light ,u (b \/C)Eergy G/ (c | d) Heat =7 (d
g 369) From what sources are fats usually obtained? ¢ Z_L? 4 J" b < él 3 ‘j/ %1 Jﬁf (369
g a) Chemical J‘Q«{(a «b) Animal Jl:l,f (b | ¢)Mineral (EQM (¢ | d) Citrus fruit

g = 32
% 370) All the genes 1nside the cell are called. - ':J)//:? rl/" s2 8 L Jf (370
% a) Maltese 20 (a | ¥b) Genome e (b | ¢) Genetic uéf (¢ | d) Catalyst 2kl (d
% 371) An average child must starts walking at the age of month. - .f.:'._l:’/(f/ﬁ;‘ e v A d/ol. _______ & b3 L1 (371
g a) 14-18 a)14-18 | #b)13-15 b)13-15 [ o) 11-12 c)11-12 | d)9-10 d)9-10
% 372) Japan has an average annual population growth rate. = d)LT RV /7‘ besl Ul ugu (372
% va)0.27 %a)0.2 | b)0.157% Zb)0.15 | ¢)0.257% %2¢)0.25 | d)0.37 %2d) 0.3

% 373) 60% of Pakistan's population is dependent on. - A K SoLT 42! 60 JUW/L (373
g a) Industry ¢ ~%(a | b)Job = ik (b | #¢) Agricultu£§<( 3@:’_;«‘!1} (¢ | d) Business Ass6(d
g 374) What diseases are caused by iodine deficiency? m«f“i\ éEQ J ¢ e dse 70 S kol = Of g 34T (374
§ v a) Goiter #¥(a | b) Night blindness /,.f YMifatia L2 (c | d)Cough S
: S ﬁs@;@

= CL;?’@\:«V

g 375) Polio is spread by . j(}u/ o s &*L%{ Sk Jx.';j (375
g a) From bacteria < | }{J (a | ¥Db) F;\‘ f\léi}e&v/l;gs ¢) Fungi =8 Jlﬁ’ (¢ | d) From Algae < (j 1 (d
g | {ﬁ@ = J s (b

g 376) The process by which Cartﬁlydijoxide Increases in air - - e M u) 42 d/jfm JIJ’S o8 Sl (376
g a) Photosynthesis &b’ Jg_f (a | ¥b)respiration f /‘3.4*1 (b | ¢)burning & ﬁ (¢ | d)evaporation

g e o =z (d
% 377) There are different types of oils. - rl.ﬁl d/ =, (377
g a) 5 a)5 | b)4 b)4 | ¢)3 c)3 | ¥vd2 d)?2

% 378) The contents of sodium in vegetative tissue very from : - Jﬁ‘ Jl a2 J(.ij Je Uy (378
g v2a)0.01-10% b) 10-15% 44 15 b) 10 | ¢) 12-16% 42 16 ¢c) 12 | d) 16-20% 4220 & d) 16
g 4410 & 2)0.01

g 379) Dr. Samar Mubarakmand has scientific services. - Ll U": - u( LA ..le/ /? /J’/L‘i (379
g a) Botany (:Ebl, (a | #b) Physics uj 2(b | o) Zoology Sd1si (¢ | d) Geo Graphics dlj 2 (d
g 380) What are water, forests and minerals called? P LMga}, =\t = dL (380
% a) Fossils #9(a | +b) Resources wa (b | ¢) Agriculture =#1,5(c | d) Industry = (d
g 381) When was SPARCO founded? s i d Lgd (381
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0000000000000
% a)In1960  (~+a)1960 | ¥b)In1961 U-+b)1961 [ c)In1963  (=sc)1963 [ d)In1964 =+ d) 1964 %
g 382) The best way to kill germs. - .’é{}’ Q:/"f K /ﬁ?lz (382 %
g ok Bt U?ju/i‘ (a | b) Personal hygiene c) Water dk (c | d) Air % (d %
g Jo 15 (b %
g 383) The proportion of carbon dioxide in the air 1s : - A g LT Jlj’ K U 13 (383 %
g a) 0.02 percent 44 a)0.02 | b)0.03 percent 44 b)0.03 | «¢)0.04 percent d) 0.05 percent 4 d)0.05 g
g 44 ¢)0.04 g
g 384) What are the approximate types of birds in Pakistan? ¢ U r,L;;, 03( ’ /“J u{ sk 9 UL"/(‘E (384 %
g a) 150 a) 150 | b)200 b) 200 | ¢)300 c)300 | ¥d) 600 d) 600 %
g 385) Enzymes are in their nature. TN j:- & F!j"l (385 %
g W Lipid % (a | b) Vitamins ¥ (b | c) Carbohydrates szijf L#,6(c | #d) Protein U'f 54, (d %
g 386) How many amino acids does the human body need in total? = Gn‘ 8 Ji{,l FuE J/j/() &Ul (386 %
g a) 22 a)22 | ¥b)20 b)20 [ ¢) 18 c)18 [ d) 16 d) 16 §
% 387) Aristotle is recognized in the Muslim world. o \JA\] et g(;p e (J/ (387 %
g a) Dr. Abdul Salam b) Dr. Abdul Qadeer Khan v'c) Abl @/L\l\ Ina d) Al baruni L} ’ /:J 1 (d g
(L 5 G Y NN T
g 388) Types of fish are found 1n Pakistan. /‘\ﬂ \@ = JE 3[.7 JL (L»?l JQ,;}@.; e UU@, (388 %
g v'a) 700 a) 700 | b)200 VBC)E c) 150 c) 150 | d) 600 d) 600 %
% 389) Insulin dash the amount of glucose 11/1&1‘160%(1 e - S J!!Cguf " fr’l (38 %
g a) Increases <l (a (@ duces 4-3'/( { (b | ¢)Both A and B d) None of these %
g N U B uslc) A U:'?J[C’——ufui(d E
g 390) Science is a word in which language? ¢ e 59 K ol J/Jrv t480 %
g a) English ‘jﬁl (a | b) Greek &ti (b | #¢)Latin df U(Cc | d)French d':) 2 (d %
g 391) Who translated alchemy into Latin? ¢ zf L u/ Ll df J 276 w (391 %
g a) Robert Brown b) Robert Hook «f &4 (b | #¢) Robert of Chester d) Robert Fleming %
et o 2 ST (e LFon@|  E
g 392) The human population is divided into groups according to blood groups. %
ce VU s ST Qe 8 £ RS 2 (392
% a) 2 a)2 | b)3 b)3 | ¥c)4 )4 | dS5 d)5 %
g 393) ..., Gas that helps the fruit ripen. e Gssu é S Uk 2 ﬂ” ------ (393 %
g a) Ozone 23 (a | b) Oxygen ui“ﬁ (b | ¢) Carbon monoxide « d) Ethane gas ) %
g BT i 6 (e L 7 g
g 394) Does the small intestine digest and absorb _ © Ut &y o (44 T 3 v .L:'( (304 %
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élllIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII]IIIIIIII]IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIlIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIII
§ a) Carbohydrates J‘ijé"f'l,b{(a vb) Fats U’ij (b | c) Salts u::-«‘lfc" (¢ | d) Glucose S E(d
é 395) The disease is characterized by inflammation of the liver. - J ¥ J /G e bl J u) S/ 09 (395
g a) Measles »~” (a | b) AIDS %1 (b | #¢)Hepatitis J'? b (¢ | d)Influenza 71 (d

é 396) Which form of carbon is not crystalline? = V4 C){Uﬁ’/(fs 5 o § k(396
g « a) Charcoal d:’/ﬂg (a | b) Graphite < Lg/f (b | ¢)BuckyBalls | d'/ (¢ | d) Diamond = (d
g 397) How many kilometers is the thickness of the atmosphere? 3 4:;_/”'..’ ,«KZJE’K d//':::”/ k1 (397
= | 2100 2) 100 | ¥b)200 b)200 | ¢)300 ¢)300 | d)400 d) 400

§ 398) Endangered animal of Pakistan is. - Jlg ,?/:* & Ku% (398
- v2) Dolphin P | b)Goat SA O | o) Cow 2 ¢(c | d)Dog ((d
§ 399) Rabies is caused by the bite of which animal? fe e 3§26 o gf Sl § 7 (399
% v a) Dog #"(a | b) Snake < (b | ¢) Scorpion # (¢ | d)None of these

g u.ff/ d/:_. Je o (d
% 400) Which one is not fossil fuel? ¢ < u"/ J}’ J’}’/’ Tl Ul((400
= 2) Coal Lf (| ¥b)Hydrogen okl | Q0il (9 K | d)Gas s
E “'fr,,::)\" .

= 401) The child should be given the first BCG vaccine when he is. o O xR b U fgs BCG &f ”i (401
= S LX) :

= a) One month ol h.{l (a | b) Three month ob (b/’;‘m{' &month ol ¥ (¢ | #d) Atbirth

g /\‘ﬂ(>\ﬂ =y L jl% (d
= v:’; b

g 402) Glucose is a < }‘// ¢ Z }:( }K (402
1, f\ o s ¥

= « a) Carbohydrates ;4746 (a rotein 14 (b | ¢) Vitamins ¢ ts(c | d)Fats o~ (d
g 403) The amount of water in mlu(@w\;ight - Jyz JJ Ll e Jdg U 2393 (403
= a) 70 % D707 | b)60% b) 60% | c) 87 % c)87% | ¥d) 957 d) 957
g 404) According to modern estimates, the earth 1s halt a drop. s {./5 22 K (o JU:/ L Ao (404
= | @6338km X Fa)6338 [ )6353km £ Fb)6353 | 0)6365km & £ ) 6365 | vd) 6379 km < £ d) 6379
g 405) Test performed before donating blood? - s S et % « & ¥ (405
g v a) HIV a) HIV | b) Urine test & ¢/2¢ (b | ¢) Greenhouse effect d) Nitrogen s AL (d

g &?ll JI c{j(c

= 406) What is found in hemoglobin? ¢ ot L Ut s (406
g a) Sodium A5y (a | #b)Iron 7T (b | ¢) Calcium (ﬂ"f (¢ | d) Chlorine & 5 (d
g 407) One gram of carbohydrate Provides energy. = §.t’/ ¥ — m,@ﬁ)ﬂ%ﬂj L1 (407
g a) 3.8 kcal J;M..L’(yga)?y.S b) 2.8 keal J;uf/:{b)2.8 v c) 4.1 kcal :;u'zfrgc)4 | | d) 3.8 keal Z,x}.."’rrgd)3.8
g 408) Coal, oil and gas Called D AP | u'i/,ul 2 ¢ J’/(408
g v a) Fossil Fuel b) Burning fuel ¢) Household fuel J»' s /’*f (¢ | d) Petroleum fuel

= J2 S5 J Lis 22 (b J2 s (d
éiillllllllllllllIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
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409) One gram of oil gives energy? Ve 3}4 S G 7y (lj L1 (409

a)9-2Kcal a)9-2Kcal | b)9-3Kcal b)9-3Kcal | ¥¢)9-1Kcal d) 9 Kcal d) 9 Kcal
c) 9 -1 Kcal

410) Which gland controls the amount of glucose in the blood? ¢ et S I A N $o E s U (410

a) Adrenal Sk (a | b) Pituitary gland v ¢) Pancreas )L/;} (¢ | d) Thai Ride Gland
FERZAC i 40 36 (

411) When did Dr. Abdul Qadeer Khan take up permanent residence in Pakistan?
?J;Ql ..:;FJ"Putul;"fL:JL uté,g,co‘ﬂl,gfﬁ/l,’i(MI
a) 1972 a) 1972 | b) 1973 b) 1973 | ¢) 1974 c) 1974 | ¥d) 1975 d) 1975

412) Used to control weeds in crops. b 4 Jie “i L L/(J:/;),j Snr 2 oeut (412

« a) Herbicide v L}_/; (a | b) Tobacco )’/Lj (b | ¢) Sinomoid #le-(c | d) Crop Jﬂ) J”a! (d

413) A way in which living things use oxygen from the air to oxidize food in their body cells.

LS e T :_,wé_ LT aF S s £~ g gess U7 300413
v a) Respiration % /E;,{J (a | b) Digestion u’j 5(b | c) Photosynthesis r/\f‘/ 49 (¢ | d) Excretion J} /Q'/l (d

e (\/}'\ ]
414) called the chemistry of carbon compounds. {\E\\ o - gfngisgL -6 (414

)\

a) Biochemistry ’L.»:.'/f L (a | b) Geochemistry k{f (b N@}\Organic chemistry d) Inorganic chemistry

AN
415) Where do typhoid germs grow so fast? ,\bf?

<\

St e SF L 17 Lt (415

st

a) In the water 6 e d& (a | «#b)In mlll(\/\ 239 (b | ¢)In honey U /«vf’ (¢ | d)Inbread U bas(d

S b 1l ¢
416) The pituitary gland is connecteﬂ(‘;g P-4 V4 »—,:K S/ % (416
fx_\:l ‘y. *

« a) From the brain b om the throat c¢) From the stomach d) From the intestines

& EA.) (a e & (b e s (c « Jg#id

417) Silicone is obtained. - zf_l:’n' Jita u,ét' (417

a) From magnesium P +b) From Micas ¢) From Calcium < (fif( (¢ | d)From Jim Stone
e (" (a = JEL (b ey 2 (d

418) Who first developed sulfuric acid, nitric acid and hydrochloric acid?
¢ & L Jp by S I a S it sl d SF S S (418

a) Ibn Al-Hashem (yj | % (a | b)Albaruni J) /.:" (b | ¢)BuAliSina [+ J‘ 4 (c | #d) Jaber bin Hayyan
P o 4 (d

419) Approximately what percentage of Pakistan's population is dependent on agriculture?
C e 2 s GAT QL a8 E L P (419

a) 50 % Za)50 | «¥b) 60 “ Zb) 60 | ¢) 80 # Z¢)80 | d) 90~ zd) 90

420) The dangerous type of influenza is. - f’ _fL/‘-'ﬁ Jl)'j:ﬁjl (420

LU e e
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g g g
v a) Type A A A (a | b) TypeB BA (b [ c) TypeC C(c | d)TypeE E A (d
421) is used in advertising signs. pakcity.org - bl U U A EF sk (421
a) Argon ¢/ £,7(a | #b)Neon ¥ (b | ¢)Keratin uf&,/ (¢ | d)Radon A (d
422) Muhammad Zakaria Al-Razi was born in. A VALY /! L/x £ (422
a) 722 AD sa) 722 | «b) 865 AD +b) 865 | ¢) 965 AD ¢c) 965 | d) 973 AD +d) 973
423) Beverages that can be rused in hepatitis. - EEL;: 4:: JL*“*“I oL J e Jf"flfgj;? *.::.;L;/:" 03 (423
a) Water d[._ (a | b)Juice J# (b | ¥c)Sugarcane juice J~ ¢ (¢ | ) Milk 23 (d
424) Glucose production process in plants is. = .r.;;.l:'llfr J’f §o_ S y|o ¥ Un U2y (424
« a) Photo synthesis b) Oxidation cﬁj O/T (b | ¢) Reduction f/j? Ss(c | d) Respiration Lf")* &= (d

F &  (a
425) Which sugar 1s found 1in milk. - j)’ dls d_la Jg e 293 (425
« a) Lactose };g (a | b) Sucrose lec (b | ¢) Glucose o S (jlf (¢ | d) Fructose i / (d
426) Which disease is most common in children under two years of age? ¢ - rlp L u:f/ {::_ Jl/ vk U/(426
a) Measles .~ (a | b) Whooping cough cf w/d?(b c) TB ﬂ{KQCEﬁ\ ) d (j (¢ | #d)Polio JJ...gj (d
427) The percentage of oxygen in the air. N 4:\ <;“9> ) - w2 J u’:? e 130 (427
a) 787 4 a)78 | ¥b)217 44 b) 21/,;2@;25”?) 4 ¢)22 | d)76% 44 d) 76
428) Major cause of depletion of ozone layer 1s : /;iﬂ > - 28 S d/d‘l? JU':J’H;L*J)};I (428

N7 2
a) hydro carbon b) hydrogen /\ gﬂ\/ﬂ L (b | #c)choroflouro carbon d) Oxygen ui:fl (d
@J(cﬁuflz (a r\ @\E/ ; &J(}J}G u!g(c
429) Vitamin deficiency causesgﬁ“g\}\ixt/b Indness. - Qs J',AP b el e JJJ‘U’: (429
N\

a)D a)D | b)C b)C | ¢)B c)B | «¥d)A d) A
430) What are the sources of fat? i Z CJ/L;} Z d_./'/ J’i ” UELE (430

va)?2 a)2 | b)3 b)3 | c)4 )4 | d)S d)s5

431) Dr. Ashfag Ahmed joins Pakistan Atomic Energy Commission

_J;@lajrﬁuiug&)! b eIl & e Qs 13 (431

a) In 1957 Jesa) 1957 | b)In1958 (% +b) 1958 | ¢)In 1959 Uusc) 1959 | «#d)In 1960 =~ +d) 1960
432) The process of Respiration is. - Jf K uw" s (432
a) Anabolic J),{l.},l (a | #b) Catabolic J:,{ l’}:f(b ¢) Metabolic J)’,L’&f (¢ | d) None ofthese
S8 e o
433) Vitamin C deficiency causes diseases. il Jﬁ YU e urd/" $ "k (433
a) Night blindness b) Phobia Q}’ (b | #¢) Sucravy d:/¢ (¢ | d)Florosis J~ s (d
U e (a

434) This is called the warmest layer of the atmosphere.

ce QW gy eSS e (434
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*

a) Mesosphere =" 352 (a | b) Stratosphere /f" % (b | c) Troposphere /'%f’ {f}f (¢ | #d) Thermo Sphere
e 2(d
435) helps maintain body temperature. =V ERY’ U & Jl;./f [Z.ﬂ; L f) (435
v a) Water dk (a | b) Glucose J;(rg(b ¢c) Juice J#(c | d)Oils /’LJT (d
436) Cash crops that are a source of foreign exchange earnings. L AHE Dl 2 u:‘.’w T @ (436
a) Cotton J gf(a b) Rice J:lg (b | ¢) Fruit J‘f (¢ | #d) The first three
U & (d
437) Chlorofluorocarbons cause emissions of. - 5 &s L TN 716 fis6 s r‘:’ur{ (437
a) Soil pollution vb) Space pollution ¢) Chemical pollution d) Blue pollution
ST &G s 35 (b IRLE ST 4T (d

438) People with which blood group are called global blood recipients?

?JLM&JJW}JE&U?)I)Ilec':,vs/fﬂg//(438

a) O group <! Tﬁj a) O | b) B group ..;J/f b)B | ¢c) Agroup <_Is 7/9; c)A | «d) AB group
L Is L Is T;f d) AB
o\
439) What causes malaria fever? _ “”\;:9 \gf‘ ‘ Ve by 2 u/ it /:.1’ (439

a) Frombees <« u,t:”((a

+b) From mosquitoes

A N
=oAG o

\v

d) From the snake
& u,:.ﬁl/ (d

/‘\ﬂ\ﬁ\fy

440) Cephalosporins, a type of antibiotic, was dlSCOVE’:{l;%(:’%{R \P

-fJﬂJE}J}fJ@“}@:”(jJJgfL@I(44O

va) 1948 a) 1948 | b) 1928 i@) 1928 | ¢) 1948 c) 1948 | d) 1998 d) 1998
N\

441) Chemical compounds formed byt}]g@é\s}%; of fats. e ':J fvfggnga 4”_ o L (‘V‘ L Jij (441
v a) Fatty acid L./ 5 (a b%@éév A (b | ¢) Catalyst 2 (¢ | d) Genome 22 (d
442) One out of every ten people in Pakistan is a carrier of. - < /5 /Jf ug' VAU AV L‘Jl“/@, (442

DHIV  §3TE1(a | b) Hepatitis C & - u¥ L (b | vc) Hepatitis B d) Hepatitis A
d- (e YT
443) The DPT vaccine can save a baby from. - cﬂ-lj: % [Z:_ & KJ Q 5 (443
2) TB 33 (a | vb) Tetanus U2 (o | ©) Cough SW (| d)AIDS 741 (d
444) Which is a liquid fossil fuel? —e Jd L L (444
a) Coal Jff (a | b) Methane Q.’,';* (b | ¥¢)Petroleum ﬁs ~(c | d) Water dg (d
445) One gram of o1l 1s. - Jl A2 JJJ! s _w Jila & ..:.f.Lf@u (l/f.,{i (445
2)8.6keal S/ £a)8.6 | vb)7.3keal $s Fb)73 | ) 10.1keal S £c)10.1 | d)9.3keal o £d)o.3

446) Psychosis and neoplasms are diseases.

-k J/JJ:fjﬁlJ/EV(446

S

a) Of heart

b) Of the stomach d/ o2 (b

J;(C

c) Ofthe liver

v d) Cerebral S (d
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§ 447) The branch of science related to heat, light, sound and mechanics is : g
é ?f- — J::l/ J/O.J"] 5 1sT Ul J&y =7 cuf:{(447 E
g a) geology Sl H& (a | b) astronomy :.,QJS (b | c) chemistry g /H«{ (c | ¥d)physics u/ 2 (d E
§ 448) Pakistan became a nuclear pOWET. s (j:’ u% (443 g
- va) 1922, £a) 1922 [ b) 1997+ ¢b) 1997 | ¢) 1996+ ¢¢) 1996 | d) 1999+ ¢ d) 1999 S
g 449) Ozone gas forms a protective sheath in which layer of the atmosphere? E
g ?ﬁ-gt:JLwaG?uiJu/J}f”wwruth@ -_E
g a) Tropo Space/%j/ {J (a | b) Mess Sphere f’f” 22 (b | #c¢) Stratosphere f',.y # (¢ | d) Thermo sphere E
- P AC =
= 450) This is called the study of plants. bl e Kuny @50
g v a) Botany U}L (a | b) Zoology G495 (b | ¢) Geography (31 S v> (¢ | d) Medison i (d E
g 451) According to Al-Beruni, the earth is halfa drop. - ?‘./5 K i b L &5/:91 (451 E
§ 2)6328km % #6328 | ¥b) 6338 km )6358km #¢)6358 | )6368km < £ d) 6368 =
E - £b) 6338 AN =
g s (\j\ ) E
= P \\ S . - =
= 452) The development of a country depends. ( O, i -l ALY J.ﬂ 0/(452 =
= A =
g a) On agriculture 4 =F (a | b) Atthe factories QE)\C)X;] resources . J s (c | d) On tourism 4 =2k (d g
g £ u:’/-é ?j% g
g 453) Platelets function is . \ _e by fggdiﬂj ok (453 E
g v a) Blood clotting b) Swallowirxg @S ¢) Producing antibodies d) Oxygen delivery E
el ok QU LG 6/ 1 20 B e s FT@| S
g I 5 . =
E 454) In 1998, Pakistan hadapoﬁui@:mn. __f/ d’@' Jut:f_gu.’:f 1998 (454 E
g « a) Thirteen crore five b) Thirteen crores Js./ » 2 (b | ¢)Fourteen crores 5 ) »# (¢ | d) Fifteen crores E
g lack 5 é_l: 5 2 (a /) o4 (d E
= 455) Which is Fat soluble vitamin? e F s S
§ va)D a)D | b)B b)B | ¢)C c)C | dBy, d) B, %
§ 456) TB is a disease of e Sk J _______ L}d (456 E
g a) Blood ¢# (a | «b) Lungs u;;?i.‘g (b | ¢) Skin A (¢ | d) Eyes UWKT (d E
§ 457) What is the virus that causes hepatitis B? e Ul d!(d-— > u(d L/'?U’l;j (457 g
: a) HOV a) HOV | b) HAV b)HAV | ¢) HBV c)HBV | ¥d)HIV d) HIV =
= 458) Pakistan's population in 1998 was : 6T S ol 1998 (458 £
= va) 130.5 million b) 135.5 million ¢) 140.5 million d) 145.5 million -
: O a) 1305 O b) 135.5 JE ©) 140.5 G d) 145.5 =
E 459) Greek philosophers did not want to prove their point. _E b L/uj’ o /..*:.»U? | yalt &téf (459 E
%IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIE

Please visit for more data at: www.pakcity.org



9th General Science Full book solved MCQs www.pakcity.org

élllIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII]IIIIIIII]IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIlIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIlIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIE
§ a) From beliefs « £ (a | «b) By experience & ~ /; (b | ¢c)Byobservation « s4l3+(c | d) From taking E
g e &S ii(d E
é 460) By what process does the amount of carbon dioxide in the air increase? E
g ??ijfc-ff‘.ffﬂz‘;fJEMG’;MJKJ:U’E(ZI-GO E
- a) Waste compilation vb) Respiration ¢/ £~ (b | ¢) From burninge & (¢ | d) Becoming a rapper E
0 G e ipa|
§ 461) Which plant does not have roots, stems and leaves? ¢ w u-jg" . U7 0(4-4 «J/(461 E
g a) Fungus Jl?; (a | ¥b) Algae ‘j_l:'l (b | ¢) Dear oY (¢ | d) Moses Vs (d E
= 462) Which vitamin deficiency causes night blindness? e sk d Al rete nfddobs e
= va)A a)A | b)B b)B | ¢)C ¢c)C | dD d)D I
g 463) Amylase acts on -f—t'/fz; __________ HJU (463 E
E a) Proteins ./*{,,{: (a | #Db) Starch & (b | ¢)Fats u’if (¢ | d) Vitamins s (d g
§ 464) Medications that reduce pain. o ‘3/(};’)‘” PR &, (464 E
§ a) General Medicine «b) Pain killer ¢) Sedatives (\J.x 4+ (c | d)Narcotics d'( Sl (d =
S AN ) =
E Cfijk/ J}Z (a }/K d‘; (b "‘;"E:.\ \\\i '«’f_,,x E
5 = =
E 465) The modern measure of the earth's radius is. @QO - J‘”E,, oy JJ[;J e e (465 =
= X =
= 2)5990km % #a)5990 | b)6383km < #b) 938;/’13\%063 km % #¢)5063 | ¥d)6353 km -
: \ﬁ £ d)6353 =
g /“Q . g
- 466) The form of Carbon which is not crystlme\/\ \/ - S u’lﬁf/plé' £ JCJ:JK(466 =
: N\% - E
E « a) Charcoal J’J/Jlg (a| b)G j{@}te u.ifl.cg/ (b | ¢ Bucky ball b L d'/ (¢ | d) Diamond | (d =
= AN\ ) 3} =
§ 467) Which blood group is calleﬁ@fversal Donors? ¢ LM)):}’ J’U;fg s ...::...-;/j,é & uf,;;,b Sl P (467 E
: a) A a)A | b) AB b)AB | ¢)B ¢)B | ¥d)O d) O i
g 468) Climate and weather occur in which layer of the atmosphere? S w st o u/ J /-f,;w' & ( o sl Tsts -=-«T (468 E
§ a) Thermo Sphere b) Messer Sphere c) Stratosphere /fy % (¢ | «d) Troop space E
g 469) Which gas is called noble gas? e Ju{ﬂ/‘j}; J{U' c)/(469 E
% a) Flourine Uf % (a | b) Chlorine Op, £ | «c)Neon o£ (e | d) Hydrogen A (d E
g 470) Which chemical process is catabolic? - U Li‘;-;'/Jf J’L:»:’./Lf 01(470 E
g a) Photosynthesis ﬂ;ﬁ"/ J9(a | b)Asthma U T | o) Transpiration ﬂ ;.:’ /(c | ¥d) RGSpirationJ}i 5,’3-; (d E
g 471) Who gives us facts and 1nvites us to use natural resources for the good of humanity? g
g 'QIJW’JJL’J’JJ/J{J—LJMJ&.:’UIf%b/fAJJI?Q}JQUﬁUI(47I g
S va) Islam ¢l (a | b)Hinduism =+3#2(b | ¢) Christianity =44 (c | d)Buddhism = oi (d =
§ 472) He was the first scientist to make alcohol from fermentation. _E YIS 4 i /S N J’ ;U/l & /;; (472 E
%IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIII]IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIE
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a) Jaber Bin Hayan

b) Abu Ali Sina

c¢) Ibn Al-Hashem

«” d) Muhammad bin Zakaria

b sl (a

b 4 (b

("f?’lu:l(c

Al-Razi

OVAYITETAC

473) Is the only compound that is found in solid, liquid and gas.

bl U U U Bl U 2 o 3 ot (473

a) Sulfuric acid vb) Water d.l: (b | ¢) Methane u,’.'ﬁ (¢ | d) Ethane f I (d
- § il (a
474) What color are the threadworms? i Lk u’/ 7k # (474
v a) White 44 (a | b)Black U'(b | c)Red C (¢ | d)Pear dlf (d

475) How many kilocalories are there in 100 grams of cucumber?

¢ Qe S K E e A 1S 100475

6/)%.{;{3) 9

a) 9 kcal

d)ﬁfrgb)ll

b) 11 kcal

vo) lakeal S £¢) 14

dj}':.’()gd) 20

d) 20 kcal

476) At what age do children get measles vaccine?

?.%-_Cfut/g/uiu;j,ﬁh/um

a) Atbirth <3 L JJl,g: (a

b) A month ol b{l (b

ol.uf(c

c¢) Three months

«”d) Nine month oly (d

477) DPT vaccine protect a child from which disease?

?q_rgad;@uf/;.g’{(mﬂ@Qd5(477

u}f (a

« a) Tetanus

b) Typhoid Z67t (b

¢) Cholera 1.6 (¢

SU

d) Cough

478) In what process do complex organic compounds turn into simple compoul}?ls’?\\

°w¢_ﬁ@.« u*...,w/wvuw/dwaﬁ»u*dju((ms

a) Anabolism (’/ 4/ (a | «b) Catabolism r/ P g&@&eﬁlsm g 711. (¢ | d) Assimilation vi A
479) It is not obtained through the process OfI‘eSpll‘atIOIl/\\ﬂpd - 8:’5 uif/ J’ilp & Jf Z u?*/::{u (479
79N T
v a) Food 1,7 (a | b) Water e : b | ¢) Carbon dioxide d) Energy Sty (d
/\Z\ <>‘*>/ jjm dfj @JK(C
L AN
R .
480) Germs spread. ’ /§ -l 2 K Uss1 7 (480
< . y
a) From the wind « I (a romanimals <« 49k (b | c) With water & dg (¢ | «d) All of these
& (L? o (d

481) Inadequate intake of this vitamin can lead to many diseases.

ce b alall e & s Ui e S0P S 1 (481

«a) Vitamin B; B, ¢/ '¢s(a | b) VitaminB, B, ¢s(b | ¢) VitaminB, By k2 (c | d) Vitamin B, By, ¢/ s (d
482) Which disease is not contagious? L uf Sk Jc:.ff?f Sk U/(482
a) Polio ).:'gf (a | ¥b) AIDS Jx (b | ¢)Measles 5/5 (c | d)TB d (j (d
483) What is the disease associated with duplex spot? ¢ < Sk u/ J"J Kd;f.‘l:« J@*J’/ (483
a) Polio ¢ (a | b)Flow #(b | ¥c)Measles »~” (¢ | d) AIDS 4 (d
484) Burning fuel in factories pollutes the environment. - (3/’/ s o Jil. Lo € 7 xS JY }g’ (484

v a) Air pollution b) Water pollution ¢) Soil pollution d) Noise pollution

597 Jiwe (a

(f;ﬂT J(}E (b

5T 35 (c

Lju’T JJ;“ (d

485) Which causes nervous breakdown.

el Ky L uss (485
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élllIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII]IIIIIIII]IIIIIIIIlIIIIIIII]IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIlIIIIIlIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIE
§ v a) Depression 0245 (a | b) Delirium ﬁ: /.:11«5 (b | ¢)Phobia L P | d Hysteria L /j*'wf d E
é 486) Which is solids at normal temperatures. Ut u’:;’ 4Z*/:; < (486 g
= 2) Oils #7( | b) Chlorine ¥ b | o) Oxygen ST (e | vd) Fats =40 =
. 487) Which gland controls the amount of glucose in the blood? ¢ {_t‘/ s 2 i § oS8 g B US (487 =
§ a) Adrenal gland b) Pancreas ;L):" (b | #c) Adrenal gland d) Thyroid i:{ 4y JLE’ (d E
= Gk Fo (a S S h (e =
§ 488) Any living thing that receives an external gene is called. = +t'1}ﬁ/‘¢_t'/d,ﬂ, O] &,/3 L% SN A d-’-” J/(488 _‘é
g a) Genetic organism +b) Transgenic _,Cj) /(b | ¢)Hereditary substances d) Cenes =2 (d E
g s “-’..Cip(a 250 Cﬁzl;}(c g
§ 489) The disease that BCG protects children from which disease. e Ul fu,f S d - - Sk 09 (489 E
E a) Measles »~ (a | b) Whooping cough v ¢) Hepatitis U3 < (c | dT.B Uk, (d g
: ¢ E
g 490) An alotropic form of carbon is. - y ug;)b Juifg(490 E
g a) Charcoal JLE{' (a | b) Suit 2+ (b | ¢)Coke A S (e | vd Bucky Balls 7\ J (d E
= 491) Ibn al-Hashim belongs to the branch of science. (’f;}\w’ T & o d/ J Jw 1 (’«-‘?’ | s (491 =
E a) Sound T (a | b) Heat =17 (b VO,CA\@?E\h\\O Fale | d Chemistry ’L:.{(d g
= p \"x_f < =
= - o 2N . ) ; -
= 492) Chemicals that are not present in cigarette smoke. /\ﬂ@ « & dj—’/ Y SV AVES, L A /C' s LE:{ 23 (492 =
= RS | _ =
= a) Tar A (a | b)Nicotine /Qé%@/ ¢) Carbon monoxide + d) Nitrogen dioxide =
= O WIT 9y oK (c T 85 2 FL =
= r “}Aj}v =
= 493) Which chemical process is Ang@fi@?‘y Ve 0y Jj ded b /(493 =
- Ny - — » -
= v a) Photo synthesis B)Respiration = g% (b | ¢) Transpiration ¢/ #£1/ (¢ | d) Osmosis J¥T(d S
§ p gf’“/ J9 (a E
g 494) All the flora and fauna of an area are called. - LM}?@ IR s (‘17 L3 0/(494 g
g a) Animal life 9 5”[; (a | b)Plantlife =l &l:‘lj (b | ¢) WaterLife =L QT (¢ | ¥d) Forest Life «=l> (fﬁ (d E
g 495) Which components of the blood carry gases? ¢ E_/J:j; Ju)/“'(,;]z, - u[& o5 (495 g
§ a) Plasma btk (a | b) Platelets % 2.t (b | ¢) White cells Koo | wdRedcells X % (d E
E 496) The age of child in which the child is injected with measles vacaine. Y w(j I f J/ Je U5 ,g’ K's ~ (496 E
: ) At the time of birth b) 1st month ol 1 (b | ¢) 3rd month b o (¢ | vd)9th month sbd) 9 -
% s Z: U‘}{l{';} (a E
§ 497) Total number of person living in an area is called D %{[Jlﬂ J{d/uf;’ I ;LJ e Sk o’((49’7 E
: va)population ¥ #k(a | b)species < G2 (b | ¢) community 5+ (¢ | d) habitat A =
§ 498) are liquids at normal temperatures. Y, P, C'/’L / Z* /:-j (b (498 E
g v a) [sles #7(a | b) Fats ujf (b | c) Proteins 2 /L (¢ | d) Carbohydrates =4 |46 (d E
%IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII|||IlIIIIIIIIIIIII|||IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII|IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIE
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a) Marconi d/;l. (a | b) Einstein J o J T(b | c) Al baruni dﬁ/:’ (¢ | «#d) Abu Ali Sina
b (£ (d
500) The rocks from which minerals are extracted are called. - BLH:( o Jla dbﬁ‘ =L e u> ui' lf?, (500
a) Silicon u;é.%” (a | #b)Tools Jist (b | ¢) Metals uf s (¢ | d)Jim Stone Ol (f (d

501) Synthetic fibers (nylon, polyester and plastic) are made from.

e B Ay bt 2§ (501

a) Petroleum ﬁ: £ (a | b) Wood uyﬂ (b | #¢) Animal fur d) Garbage 2SS (d
db;d/uy:"lg (c
502) Which element is present in the burning sun? Ve a5y Lok I Sy L i) (502
a) Oxygen ;f:% (a | ¥b)Hydrogen (/5.4 (b | ¢)Hydrogen 37t (c | d) Carbon -6 (d
503) The period of youth consist. - U b5 s ?&lﬁﬁ (503
a) 10 to 12 years +¥b) 13 to 19 years c) 20 to 25 years d) 25 to 30 years
J 12 = 2) 10 Ji-19 < b) 13 J- 25« )20 Ji-30 = d) 25
D) ,,J,
504) Protein is formed. {E}\\" - - 5} U2V (504
1Tl
a) From hemoglobin b) From fibers « J 46 (b 4 :\ ‘&)\%{%m amino acids d) From lipids < Jfg:' (d
=2 Q’ygﬂ (a /"“1%\/ - = L5140 (c
Nk —
505) Tetanus vaccine is. f\\@af\/\}b - u:‘:’{: J u“f‘: (505
T ;
DDPG  G-¢-$G | DBSG _(EF-40G | vODPT  -g-ile | dBothA&B
C\\ N U B sl d) A
N A /D b
506) The coolest layer of the atnﬂ@s re. - Y7 & o J/:.’V & (506
a) Troposphere ys/(a | b) Stratosphere A % (b | ¥¢)Mizo Ambassador d) Thermo space
/;‘E/ s (c /:/‘V » #(d
507) The disease caused by iodine deficiency:. - sz TV Sk £ e d/d/u:j #7(507
a) Night blindness b) Cough S (b | ¥c) Goiter (¢ | d)Malaria L (d
Sk et (a

508) Comprehensive book on the properties of light.

el
‘

b 4 =lor® §(§ (508

J/LJJI 4/;(21

+b) landscape book

AL (b

¢) private book Y i._...fl:((c

d) The book of healing
!?LEE&J’ u:.al:yﬁf(:(i

509) The polio virus attacks.

Sty KU 2y (509

a) Digestive system

rlert ¢ (a

+b) Nervous system

(LEJof’i(b

¢) Production system

oy B (c

d) Respiratory system

g b (d

510) What is animal knowledge called?

¢ bk Y 3 L Uit (510

a) Astronomy

=L (a

S (b

b) Botany

v¢) Zoology

e (c

d) Math S5°L(d
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